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NEW QUESTION 1

You are developing an application. The application calls a method that returns an array of integers named employeelds. You define an integer variable named
employeeldToRemove and assign a value to it. You declare an array named filteredEmployeelds.

You have the following requirements:

Remove duplicate integers from the employeelds array.

Sort the array in order from the highest value to the lowest value.

Remove the integer value stored in the employeeldToRemove variable from the employeelds array. You need to create a LINQ query to meet the requirements.
Which code segment should you use?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: The Distinct keyword avoids duplicates, and OrderByDescending provides the proper ordering from highest to lowest.

NEW QUESTION 2
You are developing an application that includes the following code segment. (Line numbers are included for reference only.)

CLa88
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The GetAnimals() method must meet the following requirements: Connect to a Microsoft SQL Server database.

Create Animal objects and populate them with data from the database. Return a sequence of populated Animal objects.
You need to meet the requirements.

Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A. Insert the following code segment at line 16: while(sqglDataReader.NextResult())
B. Insert the following code segment at line 13: sglConnection.Open();

C. Insert the following code segment at line 13: sglConnection.BeginTransaction();
D. Insert the following code segment at line 16: while(sqlDataReader.Read())

E. Insert the following code segment at line 16: while(sglDataReader.GetValues())

Answer: BD

Explanation: B: SglConnection.Open - Opens a database connection with the property settings specified by the ConnectionString.
Reference: http://msdn.microsoft.com/en-us/library/system.data.sqlclient.sglconnection.open.aspx D: SqlDataReader.Read - Advances the SglDataReader to the
next record. Reference: http://msdn.microsoft.com/en-us/library/system.data.sqlclient.sgldatareader.read.aspx

NEW QUESTION 3

DRAG DROP

You are developing a custom collection named LoanCollection for a class named Loan class.

You need to ensure that you can process each Loan object in the LoanCollection collection by using a foreach loop.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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IComparable

iEnumerable

IDisposable

public IEnumerator GetZnumerator()

public int CompareTo(object cbl)

public void D;apnse{l
_;nancollect:nniﬁz.hmnunt++:

return ob) == null ? 1 : loanCollection.Length:

return _loanCollection.GetZnumerator():

public class _canCzlliecty

{
private readenly l-an[] _loanCollection:
public LcanCollection(=:-an{] loanArray)
{

_loanCecllecticn = new _cosn[loanArray.length];

for (int 1 = 0; 1 < loanArray.lLength: 1++)
{
_lcanCeollection(i] = loaniArray(i]:

Answer:

Explanation:
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NEW QUESTION 4
You are developing an application that uses the Microsoft ADO.NET Entity Framework to retrieve order information from a Microsoft SQL Server database. The
application includes the following code. (Line numbers are included for reference only.)

1 publi telime? Orderlate;

g2 I ied r> LookupCrdersforYear(int year)
04 using (var context = new hNorthwindinczciessa())
06 var orders =

07 from order in context.Orders

09 select order;

10 return orders.Iolist () .AsQueryable();

11 }

- l-o‘ L ]

- o i

The application must meet the following requirements:

Return only orders that have an OrderDate value other than null.

Return only orders that were placed in the year specified in the OrderDate property or in a later year. You need to ensure that the application meets the
requirements.

Which code segment should you insert at line 08?
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A. Where order.OrderDate.Value != null && order.OrderDate.Value.Year > = year
B. Where order.OrderDate.Value = = null && order.OrderDate.Value.Year = = year
C. Where order.OrderDate.HasValue && order.OrderDate.Value.Year = = year

D. Where order.OrderDate.Value.Year = = year

Answer: A

Explanation: *For the requirement to use an OrderDate value other than null use: OrderDate.Value != null
*For the requirement to use an OrderDate value for this year or a later year use: OrderDate.Value>= year

NEW QUESTION 5

You are developing an application. The application includes a method named ReadFile that reads data from a file.

The ReadFile() method must meet the following requirements: It must not make changes to the data file.

It must allow other processes to access the data file.

It must not throw an exception if the application attempts to open a data file that does not exist. You need to implement the ReadFile() method.
Which code segment should you use?

A. var fs = File.Open(Filename, FileMode.OpenOrCreate, FileAccess.Read, FileShare.ReadWrite);
B. var fs = File.Open(Filename, FileMode.Open, FileAccess.Read, FileShare.ReadWrite);

C. var fs = File.Open(Filename, FileMode.OpenOrCreate, FileAccess.Read, FileShare.Write);

D. var fs = File.ReadAllLines(Filename);

E. var fs = File.ReadAllBytes(Filename);

Answer: A

Explanation: FileMode.OpenOrCreate - Specifies that the operating system should open a file if it exists; otherwise, a new file should be created. If the file is
opened with FileAccess.Read, FilelOPermissionAccess.Read permission is required. If the file access is FileAccess.Write,

FilelOPermissionAccess.Write permission is required. If the file is opened with FileAccess.ReadWrite, both FilelOPermissionAccess.Read and
FilelOPermissionAccess.Write permissions are required. http://msdn.microsoft.com/en-us/library/system.io.filemode.aspx

FileShare.ReadWrite - Allows subsequent opening of the file for reading or writing.If this flag is not specified, any request to open the file for reading or writing (by
this process or another process) will fail until the file is closed.However, even if this flag is specified, additional permissions might still be needed to access the file.
http://msdn.microsoft.com/pl-pl/library/system.io.fileshare.aspx

NEW QUESTION 6
An application receives JSON data in the following format:
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You need to ensure that the ConvertToName() method returns the JSON input string as a Name object.
Which code segment should you insert at line 10?

A. Return ser.ConvertToType<Name>(json);
B. Return ser.DeserializeObject(json);

C. Return ser.Deserialize<Name>(json);

D. Return (Name)ser.Serialize(json);

Answer: C

Explanation: JavaScriptSerializer.Deserialize<T> - Converts the specified JSON string to an object of type T. http://msdn.microsoft.com/en-
us/library/bb355316.aspx

NEW QUESTION 7

You are developing an application. The application converts a Location object to a string by using a method named WriteObject. The WriteObject() method accepts
two parameters, a Location object and an XmlObjectSerializer object.

The application includes the following code. (Line numbers are included for reference only.)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs ":J https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

01 public enun
-
a1 | e
- L5 I & ¥
a = & =
: e
[ Enar
o - ~LAST,
26 wWest
- -

™o o =

r L - Tk L E:T: - - - T .
- el e = 0 -.;':1*'.-. J‘:- ==
 § JataMember
& - ™ i = = = = & T -1
- e i i b = S =N N
1 E
19 ald LENCGZI AL
5 ==
-
T E N i =Tl | - s = - '_i'q-l-‘\.' = e = M ™ s Tals - = .lﬁ-"l- ®
- - - - e e 8 - ks o - ¥ - - e LU == = "
- el o = ralCfha~r T"AerRT = =
= 0 e e e T - =l 1 e SR g bt ) e e P N = ) e ¥

By By B bt
!

You need to serialize the Location object as a JSON object. Which code segment should you insert at line 20?

A. New DataContractSerializer(typeof(Location))

B. New XmlSerializer(typeof(Location))

C. New NetDataContractSenalizer()

D. New DataContractJsonSerializer(typeof(Location))

Answer: D

Explanation: The code is using [DataContract] attribute here so need to use DataContractSerializer class.
The DataContractJsonSerializer class serializes objects to the JavaScript Object Notation (JSON) and deserializes JSON data to objects.
Use the DataContractJsonSerializer class to serialize instances of a type into a JSON document and to deserialize a JSON document into an instance of a type.

NEW QUESTION 8

DRAG DROP

You are developing a class named ExtensionMethods.

You need to ensure that the ExtensionMethods class implements the IsEmail() method on string objects.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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public static class -
public class ExtensionMethods
this String str
String str
protected static class
public static bool IsUrl|(
|}
var regex = newu < |
" A-Za-z0-81%/2."");
return regex.lIsMatch(sctr):
Answer:

Explanation: Extensions must be in a static class as it kind of a shared source of extension methods. You do not instantiate the class.
The key word “this” is simply a syntax how you tell the compiler, that your method IsUrl is extension for the String object

NEW QUESTION 9

You are developing an application that will convert data into multiple output formats.

The application includes the following code. (Line numbers are included for reference only.)
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You are developing a code segment that will produce tab-delimited output. All output routines implement the following interface:

P e | —~
ublic interface

o

IOutputck

gstring GetCQutput((IE

You need to minimize the completion time of the GetOutput() method. Which code segment should you insert at line 06?
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A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

Explanation: A String object concatenation operation always creates a new object from the existing string and the new data.

A StringBuilder object maintains a buffer to accommodate the concatenation of new data. New data is appended to the buffer if room is available; otherwise, a
new, larger buffer is allocated, data from the original buffer is copied to the new buffer, and the new data is then appended to the new buffer. The performance of a
concatenation operation for a String or StringBuilder object depends on the frequency of memory allocations. A String concatenation operation always allocates
memory, whereas a StringBuilder concatenation operation allocates memory only if the StringBuilder object buffer is too small to accommodate the new data. Use
the String class if you are concatenating a fixed number of String objects. In that case, the compiler may even combine individual concatenation operations into a
single operation. Use a StringBuilder object if you are concatenating an arbitrary number of strings; for example, if you're using a loop to concatenate a random
number of strings of user input.

http://msdn.microsoft.com/en-us/library/system.text.stringbuilder(v=vs.110).aspx

NEW QUESTION 10
You are creating a class named Employee. The class exposes a string property named EmployeeType. The following code segment defines the Employee class.
(Line numbers are included for reference only.)
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The EmployeeType property value must be accessed and modified only by code within the Employee class or within a class derived from the Employee class.
You need to ensure that the implementation of the EmployeeType property meets the requirements. Which two actions should you perform? (Each correct answer
represents part of the complete solution. Choose two.)
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A. Replace line 05 with the following code segment: protected get;

B. Replace line 06 with the following code segment: private set;

C. Replace line 03 with the following code segment: public string EmployeeType

D. Replace line 05 with the following code segment: private get;

E. Replace line 03 with the following code segment: protected string EmployeeType
F. Replace line 06 with the following code segment: protected set;

Answer: BE
Explanation: protected string EmpType { get; private set;}

This is a quite common way to work with properties within base classes. Incorrect:
Not D: Cannot be used because of the internal keyword on line 03.

NEW QUESTION 10
HOTSPOT

You are implementing a library method that accepts a character parameter and returns a string. If the lookup succeeds, the method must return the corresponding

string value. If the lookup fails, the method must return the value "invalid choice."
You need to implement the lookup algorithm.

How should you complete the relevant code? (To answer, select the correct keyword in each dropdown list in the answer area.)
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Work Area

i

Cas
if

switch

Answer:

Explanation:

switch(letter){ case ‘a’:

case ‘m’: default:

}

Reference: switch (C# Reference)
http://msdn.microsoft.com/en-us/library/06tc147t(v=vs.110).aspx

NEW QUESTION 15

You use the Task.Run() method to launch a long-running data processing operation. The data processing operation often fails in times of heavy network
congestion.

If the data processing operation fails, a second operation must clean up any results of the first operation.

You need to ensure that the second operation is invoked only if the data processing operation throws an unhandled exception.

What should you do?

A. Create a TaskCompletionSource<T> object and call the TrySetException() method of the object.
B. Create a task by calling the Task.ContinueWith() method.

C. Examine the Task.Status property immediately after the call to the Task.Run() method.

D. Create a task inside the existing Task.Run() method by using the AttachedToParent optio

Answer: B
Explanation: Task.ContinueWith - Creates a continuation that executes asynchronously when the target Task completes.The returned Task will not be scheduled
for execution until the current task has completed, whether it completes due to running to completion successfully, faulting due to an unhandled exception, or

exiting out early due to being canceled.
http://msdn.microsoft.com/en-us/library/dd270696.aspx
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NEW QUESTION 20
You are modifying an application that processes leases. The following code defines the Lease class. (Line numbers are included for reference only.)

0l public clas=s

b

0z

04 private int _Term;

a5 private const int MaximumTerm = 5;

{6 private const decimal Rarte = 0.034m;

a7 public intc Term

og {

09 get

10 ¢

11 recurn term

- -y ' —

e ol i

13 set

14 {

15 if (value <= MaximumTerm)

16 r

17 _term = value;

14

1% elze

20

21

22

rk

I

- i

] Iy

25 |

26 public delegate volid MaximumTermBeachedHandler (obhject sourge, EventArzgs e);
- r

Leases are restricted to a maximum term of 5 years. The application must send a notification message if a lease request exceeds 5 years.
You need to implement the notification mechanism.
Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

" A Insert the following code segment at line 03:

public event MaximumTermReachedHandler OnMaximumTermReached;

' B. Insert the following code segment at line 21:

1f (CnMaximurTermReached '= null)

OnMaximumTermReached(this, new EventiArg=a()):

' €. Insert the following code segment at line 21:

value = MaximumTerm;

" D. Insert the following code segment at line 03:

public string MaximumTermReachedEvent { get; set; }

" E.  Insert the following code segment at line 03:

private string MaximumTermReachedEvent;

' F. Insert the foliowing code segment at line 21:

value = 4;

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

Answer: AB

NEW QUESTION 21

You are developing an application that uses structured exception handling. The application includes a class named ExceptionLogger.

The ExceptionLogger class implements a method named LogException by using the following code segment:

public static void LogException(Exception ex) You have the following requirements:

Log all exceptions by using the LogException() method of the ExceptionLogger class. Rethrow the original exception, including the entire exception stack.
You need to meet the requirements. Which code segment should you use?

- catch (Exception ex)

[T}
u
-
£
]

K
T

1

b |
1
-

1]
[
)
¥

i1 [y
1
|

D catch

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: Once an exception is thrown, part of the information it carries is the stack trace. The stack trace is a list of the method call hierarchy that starts with
the method that throws the exception and ends with the method that catches the exception. If an exception is re-thrown by specifying the exception in the throw
statement, the stack trace is restarted at the current method and the list of method calls between the original method that threw the exception and the current
method is lost. To keep the original stack trace information with the exception, use the throw statement without specifying the exception.

Reference: http://msdn.microsoft.com/en-us/library/ms182363(v=vs.110).aspx

NEW QUESTION 23
You are developing an application that includes a class named UserTracker. The application includes the following code segment. (Line numbers are included for
reference only.)
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Vvl public delegate void AddUserCallback{int 1)’
02 public class UserTracke:

03 |

04 List<User> users = new L:sct<User>():

05 public void AddUser (string name, AddUserCallbacik callback)
ce {

07 users.idd(new Uzer (name)):

o8 callback(users.Count);

co }

10 }

11

12 public class Funner

La 4

14

15 Jsexrilrxacker tracker = new Userlracker():
16 public void Add(string name)

17 {

18

19 !

20 }

You need to add a user to the UserTracker instance. What should you do?
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" A Insert the following code segment at line 14:

rivate static void PrintUserCount(int 1)

Insert the following code segment at line 18:

AddUserCallback callback = PnntUserCount;

B, Insert the following code segment at line 11:

delegate void AddUserDelegate (UserTracke

H
[

W
i
"

Insert the following code segment at line 18:

AddU==srlielagate addlelegate = (uzerTracker) =>

addlelegats (tracker):

€. Insert the following code segment at line 11:
delegate void AddUserDelegate(string name, AddUserCallback callback):

Insert the foliowing code segment at line 18:

adder = (1, callback) =>

" D.  Insert the following code segment at line 18:
tracker.AddUser (name, delegate(int 1)
b

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 26
DRAG DROP

You are developing an application that includes a class named Kiosk. The Kiosk class includes a static property named Catalog. The Kiosk class is defined by the
following code segment. (Line numbers are included for reference only.)
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You have the following requirements:

Initialize the _catalog field to a Catalog instance. Initialize the _catalog field only once.

Ensure that the application code acquires a lock only when the _catalog object must be instantiated. You need to meet the requirements.

Which three code segments should you insert in sequence at line 09? (To answer, move the appropriate code segments from the list of code segments to the
answer area and arrange them in the correct order.)

L O2K R T4

if ( catraleg '= nuil _catalcg = ne CAtAlZOQ
(]

s - - = 5

i3 cataleg = il

-1 - _CATAaloQ == nuis CACA.CQ = ew Cacalog
]

if catal m=m null

Answer:

Explanation: After taking a lock you must check once again the _catalog field to be sure that other threads didn't instantiated it in the meantime.

NEW QUESTION 29

DRAG DROP

You are developing an application that will include a method named GetData. The GetData() method will retrieve several lines of data from a web service by using
a System.lO.StreamReader object. You have the following requirements:

The GetData() method must return a string value that contains the first line of the response from the web service.

The application must remain responsive while the GetData() method runs. You need to implement the GetData() method.

How should you complete the relevant code? (To answer, drag the appropriate objects to the correct locations in the answer area. Each object may be used once,
more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

-~
- - A
-u-h:‘d rf.'ﬁ-:'.]-q
o - - N = . - T Vim e ow | v T o)
L - e B i e -
- T T LT
~EAC. OSNICRIYT
g T @ v R sy v [rvanasrnsaman Rac*DegrsasssSe w5
= - e o b e - -t o - e A e = e -
i )
= -
awaLt
5 - - | = -
UEL1IEXT &XE = StrIeampKealeY

if
»
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Answer:

Explanation: Box 1. async

Box 2. await

Box 3. ReadLineAsync(); Incorrect:

Not Box 3: ReadToEndAsync() is not correct since only the first line of the response is required.

NEW QUESTION 33

You are adding a public method named UpdateScore to a public class named ScoreCard. The code region that updates the score field must meet the following
requirements:

It must be accessed by only one thread at a time. It must not be vulnerable to a deadlock situation. You need to implement the UpdateScore() method. What
should you do?

m
o

ject named leckObject to the ScoreCard class. Place the code region inside the fallowing lock statemant

Apply the following attribute to the UpdateScore() method srgnature

[Mathadimpl!MethadlimplOptians, Synchronized))

't

0 Add a public static object named |ﬂ-fhﬂ1)ii"1’.l to the ScoreCard class. Place the code region inside the fol owing ok statement

P |

. Option A
. Option B
. Option C
. Option D

o0 >

Answer: B

Explanation: Because the class is public, you need a private lock Object. Reference: lock vs. MethodImplOptions.Synchronized [Kit George]
http://blogs.msdn.com/b/bclteam/archive/2004/01/20/60719.aspx

NEW QUESTION 37
DRAG DROP

You are developing an application that implements a set of custom exception types. You declare the custom exception types by using the following code
segments:
public class AdventuraWorksExcepticon @ 5y ?
AQVenturewWorkslUnEXceprtion epri

public clas
=1

PubLlic CLA3

13

X3LX
-

=
preWork

w 0

venturalorksVal1darionEycention X CATT Lo

The application includes a function named DoWork that throws .NET Framework exceptions and custom exceptions.
The application contains only the following logging methods:

ot~ T A T o
STaELT1C {

ex)

_' -
==t ars— T T AT . '—r—r‘—*--—_;u‘q‘u—'r!{ | — ™ “ b g’ - I
_______ 0id Log(AdventureWorksException =x) { ...
static void LogllidventureWorksValidationException ex) .

The application must meet the following requirements:

When AdventureWorksValidationException exceptions are caught, log the information by using the static void Log (AdventureWorksValidationException ex)
method.

When AdventureWorksDbException or other AdventureWorksException exceptions are caught, log the information by using the static void | og(
AdventureWorksException ex) method.

You need to meet the requirements.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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jAdrentureforkavalidacionException #X¥) s
- r
drantureforxsException ex 4
™ | -
T DoWork() :
| ntoscoDbException ex
~ —~
LOog(eX) -
aF Lol ol
Log{ex):
r
Log(ex):
Answer:

Explanation: Go from the most specific exception to the least on. So the order would be:

1. AdventureWorksValidationException — catch this ex

2. AdventureWorksException — catch AdventureWorksDbException and other AdventureWorksExceptions
3. Exception — catch all the rest

NEW QUESTION 40

You are developing a C# application that has a requirement to validate some string input data by using the Regex class.

The application includes a method named ContainsHyperlink. The ContainsHyperlink() method will verify the presence of a URI and surrounding markup.

The following code segment defines the ContainsHyperlink() method. (Line numbers are included for reference only.)

bool ContainsHyperlink(string ianputDatal

R ol L B

i

The expression patterns used for each validation function are constant.

You need to ensure that the expression syntax is evaluated only once when the Regex object is
initially instantiated.

Which code segment should you insert at line 04?

VAI EVA.UATOD = ney regel (regliXxFattern, =Eegexiptlong.Cuaturs.nvariant
E r svaluat e Regex
| L N L, n
- A |
» e s - - - - - - - =
3 . ¥
~omei leT Femini " - 11AT # o I b i Ame
EVALUATOT L4 L L} L = ATL
[ VAL =ETALUATOL ™ neW KeqeX (TEJLXFATLEIN, ~eQellUpllions..oEmpl.oed)s

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: RegexOptions.Compiled - Specifies that the regular expression is compiled to an assembly.This yields faster execution but increases startup

time.This value should not be assigned to the Options property when calling the CompileToAssembly method.

http://msdn.microsoft.com/en-us/library/system.text.regularexpressions.regexoptions.aspx Additional info
http://stackoverflow.com/questions/513412/how-does-regexoptions-compiled-work

NEW QUESTION 42

You are developing a method named CreateCounters that will create performance counters for an application.

The method includes the following code. (Line numbers are included for reference only.)
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You need to ensure that Counterl is available for use in Windows Performance Monitor (PerfMon). Which code segment should you insert at line 16?

A. CounterType = PerformanccCounterType.RawBase

B. CounterType = PerformanceCounterType.AverageBase

C. CounterType = PerformanceCounterType.SampleBase

D. CounterType = PerformanceCounterType.CounterMultiBase

Answer: C

Explanation: Note SampleFraction on line 9. The Base counter type SampleBase has the Parent
(composite) counter type SampleFraction.

Reference: PerformanceCounterType Enumeration
http://msdn.microsoft.com/en-us/library/system.diagnostics.performancecountertype.aspx

NEW QUESTION 45
You are developing an assembly that will be used by multiple applications. You need to install the assembly in the Global Assembly Cache (GAC).
Which two actions can you perform to achieve this goal? (Each correct answer presents a complete solution. Choose two.)

A. Use the Assembly Registration tool (regasm.exe) to register the assembly and to copy the assembly to the GAC.
B. Use the Strong Name tool (sn.exe) to copy the assembly into the GAC.

C. Use Microsoft Register Server (regsvr32.exe) to add the assembly to the GAC.

D. Use the Global Assembly Cache tool (gacutil.exe) to add the assembly to the GAC.

E. Use Windows Installer 2.0 to add the assembly to the GA

Answer: DE

Explanation: There are two ways to deploy an assembly into the global assembly cache:

* Use an installer designed to work with the global assembly cache. This is the preferred option for installing assemblies into the global assembly cache.

* Use a developer tool called the Global Assembly Cache tool (Gacutil.exe), provided by the Windows

Software Development Kit (SDK). Note:

In deployment scenarios, use Windows Installer 2.0 to install assemblies into the global assembly cache. Use the Global Assembly Cache tool only in development
scenarios, because it does not provide assembly reference counting and other features provided when using the Windows Installer. http://msdn.microsoft.com/en-
us/library/yf1d93sz%28v=vs.110%29.aspx

NEW QUESTION 49
You are debugging an application that calculates loan interest. The application includes the following code. (Line numbers are included for reference only.)

raTeray i el k. 1 - ww
«ATELNEEICIT (QdECilEEL LOaNAD an

- - - 3 " r - =1 . - " ™
yATE STATL fecimal Cal anierm, decima anface)

IoEm R e Rl
=F-Ra 1o K. = BRLIEEE:

You need to ensure that the debugger breaks execution within the Calculatelnterest() method when the loanAmount variable is less than or equal to zero in all
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builds of the application.
What should you do?

A. Insert the following code segment at line 03: Trace.Assert(loanAmount > 0);
B. Insert the following code segment at line 03: Debug.Assert(loanAmount > 0);
C. Insert the following code segment at line 05: Debug.Write(loanAmount > 0);
D. Insert the following code segment at line 05: Trace.Write(loanAmount > 0);

Answer: A

Explanation: By default, the Debug.Assert method works only in debug builds. Use the Trace.Assert method if you

want to do assertions in release builds. For more information, see Assertions in Managed Code. http://msdn.microsoft.com/en-us/library/kssw4w7z.aspx

Incorrect:
Not B: Debug.Assert only works in debug mode. Here it must work in all builds of the application.

NEW QUESTION 52
You are developing an application that accepts the input of dates from the user.

Users enter the date in their local format. The date entered by the user is stored in a string variable named inputDate. The valid date value must be placed in a
DateTime variable named validatedDate. You need to validate the entered date and convert it to Coordinated Universal Time (UTC). The code must not cause an

exception to be thrown.
Which code segment should you use?

n .
Fe e m Fuba e ®

m
} i

2| daced

RBIIENtLUu.Kure «HRISEeUnITEIAA CUt ¥va.lgatedlate] ;

D validacadfacse =

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: AdjustToUniversal parses s and, if necessary, converts it to UTC.

Note: The DateTime.TryParse method converts the specified string representation of a date and time to its DateTime equivalent using the specified culture-specific

format information and formatting style, and returns a value that indicates whether the conversion succeeded.

NEW QUESTION 54

DRAG DROP

You are developing an application by using C#. The application will process several objects per second.
You need to create a performance counter to analyze the object processing.

Which three actions should you perform in sequence? (To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the

correct order.)

Ldd the CounterCreationData ohjects to the

collection by cailing the Add() method of the
collection.

Create a
PerfarmanceCoaunterParmissionEntryCallection
collection.

Call the Create() method of the
PerformanceCounterCategory class and pass the
collection to the method

TR S I BN O L Iy s Py Ry e
Get the CategoryName propearty of the

r
PerformancelounterPermissionEntry clas

&

Create &

CounterCreationDataCollection collectuan. Then
create the counters as

CounterCreationData objects and set the
necessary properties.

Answer:
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Explanation: CounterCreationDataCollection counterDataCollection = new CounterCreationDataCollection(); // Box1

/I Add the counter. Box 1

CounterCreationData averageCount64 = new CounterCreationData(); averageCount64.CounterType = PerformanceCounterType.AverageCount64;
averageCount64.CounterName = "AverageCounter64Sample”; counterDataCollection.Add(averageCount64);

/I Add the base counter.

CounterCreationData averageCount64Base = new CounterCreationData(); averageCount64Base.CounterType = PerformanceCounterType.AverageBase;
averageCount64Base.CounterName = "AverageCounter64SampleBase"; counterDataCollection.Add(averageCount64Base); // Box 2

/I Create the category. Box 3 PerformanceCounterCategory.Create("AverageCounter64SampleCategory", "Demonstrates usage of the AverageCounter64
performance counter type.", PerformanceCounterCategoryType.Singlelnstance, counterDataCollection);

NEW QUESTION 58

You are developing an application by using C#. You provide a public key to the development team during development.

You need to specify that the assembly is not fully signed when it is built.

Which two assembly attributes should you include in the source code? (Each correct answer presents part of the solution. Choose two.)

A. AssemblyKeyNameAttribute
B. ObfuscateAssemblyAttribute
C. AssemblyDelaySignAttribute
D. AssemblyKeyFileAttribute

Answer: CD

Explanation: * AssemblyDelaySignAttribute

Specifies that the assembly is not fully signed when created.

* The following code example shows the use of the AssemblyDelaySignAttribute attribute with the AssemblyKeyFileAttribute.

using System;

using System.Refilection; [assembly:AssemblyKeyFileAttribute(“TestPublicKey.snk”)] [assembly:AssemblyDelaySignAttribute(true)]
namespace DelaySign

{

public class Test { }

}

Reference: http://msdn.microsoft.com/en-us/library/t07a3dye(v=vs.110).aspx

NEW QUESTION 60

DRAG DROP

You are developing an application that includes a class named Warehouse. The Warehouse class includes a static property named Inventory- The Warehouse
class is defined by the following code segment. (Line numbers are included for reference only.)

¥
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You have the following requirements:

Initialize the _inventory field to an Inventory instance. Initialize the _inventory field only once.

Ensure that the application code acquires a lock only when the _inventory object must be instantiated.

You need to meet the requirements.

Which three code segments should you insert in sequence at line 09? (To answer, move the appropriate code segments from the list of code segments to the
answer area and arrange them in the correct order.)

Answer:

Explanation: After taking a lock you must check once again the _inventory field to be sure that other threads didn't instantiated it in the meantime.
First, you check if the inventory is null, if so, you lock it to avoid other threads to change it. Second, you check again for the null, as in the tiny millisecond between
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check for null and locking could another thread get it.

Finally you create the instance and release the lock.

NEW QUESTION 65

You are adding a public method named UpdateGrade to a public class named ReportCard. The code region that updates the grade field must meet the following

requirements:

It must be accessed by only one thread at a time. It must not be vulnerable to a deadlock situation.
You need to implement the UpdateGrade() method. What should you do?

A

12k [lockObiect

T B Mace the code region inside the following lock statement:

iose [(Ehid)

( add a public static obiect named lockOhject to

e
statement

(Mathodlimpl MethodImplOptions. Synchromzed )]

. Option A
. Option B
. Option C
. Option D

o0 w>

Answer: A

U apply the following attnbute to the UpdateGrade() method signature:

Explanation: Because the class is public, you need a private lock Object. Incorrect:
Not B, not C: Once the ReportCard is public, other process can lock on type or instance. So, these options are leaning to a DEADLOCK.

Not D: [MethodImpl] attribute works locking on type (for static members) or on the instance(for instance members). It could cause a DEADLOCK.
Reference: https://msdn.microsoft.com/en-us/library/c5kehkcz.aspx

NEW QUESTION 66

Add a private object named lockObject to the ReportCard class. Place the code region inside the

"-:'-'.l.'.'.'.:FF lock statement:

the ReportCard class. Place the code region inside the following lock

You are developing an application that includes a class named BookTracker for tracking library books. The application includes the following code segment. (Line
numbers are included for reference only.)
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You need to add a user to the BookTracker instance. What should you do?
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A Insert the following code segment at line 14:

privace static void PrinctSookCount(int i)

Insert the following code segment at line 18:

idBookCallback callback = PrintBookCount;

™ B. Insert the following code segment at line 18:

tracker AddBook(name, delsgate(int 1)

Insert the following code segment at line 11:

fu
tn

delegate void AddBooklelegate (IcockTracker booklracker):

Insert the following code segment at line 18:

addDelegate = (bookTracker) =>

addDelegate (tracker):

© D, Insert the following code segment at line 11:
delegate void AddSookDelegate(string name, AddSookCallback calliback):;

Insert the following code segment at line 18:

adder = (1, callback) =>

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 69

DRAG DROP

You are implementing a method that creates an instance of a class named User. The User class contains a public event named Renamed. The following code
segment defines the Renamed event: Public event EventHandler<RenameEventArgs> Renamed,;

You need to create an event handler for the Renamed event by using a lambda expression.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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usexr . Benamed -= delegate (pbject zender, Henamedfventirgz e]
pser.Benamed —= (=zender, e) =
user.BRenamed += . delegate ({object sendey, HenamedEwre g 2]
user.BEenamed += (=zender, e8] =
users = BP3Er;
users.hdd {user) ;
users.Iinsert (user) ;
< > usSexrs = new _ < gl O B
cubklic wvoid AddiUser (string name)
=T PISr = ne =T (name) ;
Laog("U=zexr {0r was renamed to {1:7, e.0idMame, o.Mame):
H
Answer:
Explanation:
user . Benamed —-= delegate (object zender, Eve =}
pser.Benamed —= (=zender, e) =
user.Benamed += delegate (object =ender,  BenamedEventhros e)
userz {0} = paer;
uzers.Insert (user);
L1t USer> users = newW _i3t<dseri|(}:
pukblic weid AddUser(string name)
Iz=r user = new J=2=r (name);
user.Renamed += (zender, e) =»
Log|"U=sex 10 a3 renemed To {1:7, e.DidMame, e.Mame):
H
users.Add (user) ;

NEW QUESTION 70
You are creating a console application by using C#.
You need to access the assembly found in the file named car.dll. Which code segment should you use?

A. Assembly.Load();

B. Assembly.GetExecutingAssembly();
C. This.GetType();

D. Assembly.LoadFile("car.dll");

Answer: D

Explanation: Assembly.LoadFile - Loads the contents of an assembly file on the specified path. http://msdn.microsoft.com/en-us/library/b61s44e8.aspx

NEW QUESTION 73

An application includes a class named Person. The Person class includes a method named GetData. You need to ensure that the GetData() method can be used
only by the Person class and not by any class derived from the Person class.

Which access modifier should you use for the GetData() method?

A. Public

B. Protected internal
C. Internal

D. Private

E. Protected
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Answer: B

Explanation: The protected keyword is a member access modifier. A protected member is accessible within its class and by derived class instances.

NEW QUESTION 76

You are creating an application that manages information about your company's products. The application includes a class named Product and a method named
Save.

The Save() method must be strongly typed. It must allow only types inherited from the Product class that use a constructor that accepts no parameters.

You need to implement the Save() method. Which code segment should you use?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: The condition new() ensures the empty/default constructor and must be the last condition.

When you define a generic class, you can apply restrictions to the kinds of types that client code can use for type arguments when it instantiates your class. If
client code tries to instantiate your class by using a type that is not allowed by a constraint, the result is a compile-time error. These restrictions are called
constraints.

Constraints are specified by using the where contextual keyword. http://msdn.microsoft.com/en-us/library/d5x73970.aspx

NEW QUESTION 77

DRAG DROP

You are developing an application by using C#. The application will output the text string "First Line" followed by the text string "Second Line".

You need to ensure that an empty line separates the text strings.

Which four code segments should you use in sequence? (To answer, move the appropriate code segments to the answer area and arrange them in the correct
order.)
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sb.Append ("\1%);
var sb = new StringBuilder():
sb.Append ("Fir=st Line");
sb.Append ("\t");
sb.Appendline();
sb.Append ( . 2pTY)
sb.Append("Secc Line"™);
Answer:
Explanation: Box 1:
var sb = new StringBuilder():

First we create the variable.
Box 2:

sb.Append ("First Line®):

We create the first text line.
Box 3:

zh . Appendline ()

We add a blank line.
The StringBuilder.AppendLine method appends the default line terminator to the end of the current StringBuilder object.
Box 4:

Finally we add the second line.

NEW QUESTION 79

DRAG DROP

You are developing a class named ExtensionMethods.

You need to ensure that the ExtensionMethods class implements the IsEmail() extension method on string objects.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

rotected sctatic clasa | Var reges =

= Temex.laMareR o)

Answer:

Explanation: Extensions must be in a static class as it kind of a shared source of extension methods. You do not instantiate the class.
The key word “this” is simply a syntax how you tell the compiler, that your method IsUrl is extension for the String object

NEW QUESTION 84
You are developing an application by using C#. The application includes the following code segment. (Line numbers are included for reference only.)
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The DoWork() method must throw an InvalidCastException exception if the obj object is not of type IDataContainer when accessing the Data property.
You need to meet the requirements. Which code segment should you insert at line 077?

A. var dataContainer = (IDataContainer) obj;
B. var dataContainer = obj as IDataContainer;
C. var dataContainer = obj is IDataContainer;
D. dynamic dataContainer = obyj;

Answer: A
Explanation: direct cast. If object is not of the given type, an InvalidCastException is thrown. Incorrect:

Not B: If obj is not of the given type, result is null. Not C: If obj is not of a given type, result is false.
Not D: This simply check the variable during runtime. It will not throw an exception. Reference: http://msdn.microsoft.com/en-us/library/ms173105.aspx

NEW QUESTION 89
An application receives JSON data in the following format:

"FirstHame™ : "David",
rLastName™ : "Jones®,
"Values™ : [OQ, 1, 2] }

The application includes the following code segment. (Line numbers are included for reference only.)

e ] 4 - = =
e e . IEA ZF

a3 D

.

B = - - - = 7T T - = = = = -

# Puslic AnT i vaiues get set;

B - e B e T ™3 MY s - ":.1— Y T = = & -

¥ piak b 3 2 L. e e | __"_t_d_. (= I:_‘.E_rf _':1:,

- 5 Z as - KT oy

i Puclic FLring Lastiame get: seL:

Pl

-~ p ae T i i o P G - - F il -

L DI 3T4AaLlic w1 :lt_CL'aCLF'Elﬂt.:__"; 1300}

[ T ]

rl
Oy WD b -3 oy O s
3

You need to ensure that the ConvertToName() method returns the JSON input string as a Name object.
Which code segment should you insert at line 10?

A. Return ser.Desenalize (json, typeof(Name));

B. Return ser.ConvertToType<Name>(json);

C. Return ser.Deserialize<Name>(json);

D. Return ser.ConvertToType (json, typeof (Name));

Answer: C

Explanation: JavaScriptSerializer.Deserialize<T> - Converts the specified JSON string to an object of type T. http://msdn.microsoft.com/en-
us/library/bb355316.aspx

NEW QUESTION 94

DRAG DROP

You are developing an application that includes a class named Customer.

The application will output the Customer class as a structured XML document by using the following code segment:

"% pp——————— T .Y | N —— e —

"
- L - =L L |

You need to ensure that the Customer class will serialize to XML.
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How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

- N o~ - - (1] Ty g - — i} = ' (1]
ARLXOOT «-UsLOmer ", Mhamespace = 3] o o o B customer”™ )
L ae T T g i u L _— " o e — = M} . f i - - R—
XmiRoot ("Prospect”, Nameaspace = "http://prospect”)
e T R - 1] - - el s L
XmiAccribuce ("Prospecclid”)

r TR 3 ” - = ="

Anmitiement ("Prospectia®)

o o - z

amiChoiceldentifier

P T T am e ]

.lh'l-..-lir.l.l—-.—

TR e T T e e e o= 1

_1."&.."_."4.-_'5.; -'.'E."-T-_

Far - o AT ® =AY (i} 1

Anielemenc ("FuliName™) |

tESadREeInFERE B

PUDLAC Class

[
—_Th . T F s -y -
‘I_—I—l-::-d--l--- q-l-::- TE'_: Ee—r
= oy L Sy P - L — e P
public string Name get; set;
-— = - “_d—_i—.:.l"-"Fn- — - w ST e
A e e P e R TR = S Wi S - e W g = i
- =l 1~ 2w Tiwm TaT - o e
:--J i - e e - o E e o - - - r

Answer:

Explanation: http://msdn.microsoft.com/en-us/library/3dkta8ya.aspx

NEW QUESTION 96

You are developing an application that includes a class named Order. The application will store a collection of Order objects.

The collection must meet the following requirements: Internally store a key and a value for each collection item. Provide objects to iterators in ascending order
based on the key. Ensure that item are accessible by zero-based index or by key. You need to use a collection type that meets the requirements. Which collection
type should you use?

A. LinkedList
B. Queue

C. Array

D. HashTable
E. SortedList

Answer: E
Explanation: SortedList<TKey, TValue> - Represents a collection of key/value pairs that are sorted by key based on the associated IComparer<T>

implementation.
http://msdn.microsoft.com/en-us/library/ms132319.aspx

NEW QUESTION 101
You are developing an application that includes the following code segment. (Line numbers are included for reference only.)
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You need to ensure that the application accepts only integer input and prompts the user each time non-integer input is entered.
Which code segment should you add at line 19?

A. If (lint. TryParse(sLine, out number))

B. If ((number = Int32.Parse(sLine)) == Single.NaN)
C. If ((number = int.Parse(sLine)) > Int32.MaxValue)
D. If (Int32.TryParse(sLine, out number))

Answer: A

Explanation:

Incorrect:

Not B, not C: These will throw exception when user enters non-integer value. Not D: This is exactly the opposite what we want to achieve.

Int32.TryParse - Converts the string representation of a number to its 32-bit signed integer equivalent. A return value indicates whether the conversion succeeded.
http://msdn.microsoft.com/en-us/library/f02979c7.aspx

NEW QUESTION 103
You are developing an application that will process orders. The debug and release versions of the application will display different logo images.
You need to ensure that the correct image path is set based on the build configuration. Which code segment should you use?
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A $if (DEBUG)
P = — = 1 ' fn
imgPath "TenmpFolder/Images/";
$elif (RELEASE)
imgPacth "Deviolder/Images/";
#endif
B. if (DEBUG)
imgPath = "TempFolder/Images/";
e_se
imgPath "DevFolder/Images/";
endif
= $if (DEBUG)
imgPath = "TempFolder/Images/";
felse
imgPath "DevEiolder/Images/":
—_ L
$endif
r S - g -
D £ er.IlsAttached)
imgPath = "TempFolder/Images/";
elze
imgPath = "DevFoldexr/Images/";

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: There is no such constraint (unless you define one explicitly) RELEASE. http://stackoverflow.com/questions/507704/will-if-release-work-like-if-debug-

does-in-c

NEW QUESTION 104

You are developing a method named CreateCounters that will create performance counters for an application. The method includes the following code. (Line

numbers are included for reference only.)

war ccdCounte

CounterNHame = "CounterZ",

“dm ook

P

counters=s.Add (ccdCountexr?) ;

Derfn T H

=rformanceCounterfategorvIivpe.Multiinstance,

[ T o I % T T S T S T T P R R T T i e T T - O I T T

T S B T e I N

PerformanceCounterCategory.Cregte ("Conto=o™, "H

1 woid CreateCounters|()

5

2 if [!Performancelounterfategory.Exizts ("Contos=am))

4 {

& var counterz = new CounterCreationDataCollection|():
& var ccdCounterl = new CounterCreationlata

- X

2 CounterMame = "Connterl",

a CounterTypme = PerformancefounterTyne.AverageTimer3d2
1 ir

2 counters.Add (ccdCounterl) ;

3 ri = new C terCreationllatia

eip sEring®,

— 1 o

countersz) ;

You need to ensure that Counter2 is available for use in Windows Performance Monitor (PerfMon). Which code segment should you insert at line 16?

A. CounterType = PerformanceCounterType.RawBase
B. CounterType = PerformanceCounterType.AverageBase
C. CounterType = PerformanceCounterType.SampleBase
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D. CounterType = PerformanceCounterType.CounterMultiBase

Answer: B

Explanation: Note AverageTimer32 on line 09. The Base counter type AverageBase has the Parent (composite) counter types AverageTimer32,
AverageCount64.

Reference:

http://msdn.microsoft.com/en-us/library/system.diagnostics.performancecountertype.aspx

NEW QUESTION 106

You are developing an application by using C#.

The application includes an object that performs a long running process.

You need to ensure that the garbage collector does not release the object's resources until the process completes.
Which garbage collector method should you use?

A. WaitForFullGCComplete()
B. SuppressFinalize()

C. collect()

D. RemoveMemoryPressure()

Answer: B

Explanation: You can use the SuppressFinalize method in a resource class to prevent a redundant garbage collection from being called.
Reference: GC.SuppressFinalize Method (Object)
https://msdn.microsoft.com/en-us/library/system.gc.suppressfinalize(v=vs.110).aspx

NEW QUESTION 111

You are developing an application by using C#.

The application includes an object that performs a long running process.

You need to ensure that the garbage collector does not release the object's resources until the process completes.
Which garbage collector method should you use?

A. WaitForFullGCComplete()
B. SuppressFinalize()

C. WaitForFullGCApproach()
D. WaitForPendingFinalizers()

Answer: B

Explanation: You can use the SuppressFinalize method in a resource class to prevent a redundant garbage collection from being called.
Reference: GC.SuppressFinalize Method (Object)
https://msdn.microsoft.com/en-us/library/system.gc.suppressfinalize(v=vs.110).aspx

NEW QUESTION 116

DRAG DROP

You are developing an application that implements a set of custom exception types. You declare the custom exception types by using the following code
segments:

public class ContosoException @ System.Exception gl
public class ContosolbException : ContosolExc Ept on { ... }
public class ContosoValidaetionException : ContosoException

The application includes a function named DoWork that throws .NET Framework exceptions and custom exceptions. The application contains only the following
logging methods:

atatic woid Log|: . aae
2tatic wvoid Log|(C ERCepLion ex)
atatic void Log(ContozspValidationException ex)

The application must meet the following requirements:

When ContosoValidationException exceptions are caught, log the information by using the static void Log (ContosoValidationException ex) method.

When ContosoDbEXxception or other ContosoException exceptions are caught, log the information by using the static void Log(ContosoException ex) method.
You need to meet the requirements.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Answer:

Explanation: Catch the most specific exception first.

NEW QUESTION 120

You are developing an application that uses structured exception handling. The application includes a class named Logger. The Logger class implements a
method named Log by using the following code segment:

public static void Log(Exception ex) {} You have the following requirements:

Log all exceptions by using the Log() method of the Logger class. Rethrow the original exception, including the entire exception stack. You need to meet the
requirements. Which code segment should you use?

A, catch

0. catch [Ezception ex)

er.Loglex]:
throw;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 124
You are developing an application that includes a class named BookTracker for tracking library books. The application includes the following code segment. (Line
numbers are included for reference only.)
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01 public delegate void AddBSopkCallback(int i);
02 public class BookTracker

o3

o4 Lizt«<Book> books = new List<SBook>(]):

0o public void AddBook (string name, AddBookCallibneck callback)
og {

07 books.2dd (new ZSoockiname)):

08 callkack(bookzs.Count);

) }

iZ2 publiic cias=s EBoo

13 {

14

15 SookTracker tracker = new BookTracker|():

18 publiic void Add(ztring name)

You need to add a book to the BookTracker instance. What should you do?

A, Insert the following code segment at line 18:
tracker.hddBook (name, delegate(int i)
i

B. Insert the following code segment at line 11:
delegatevoidhddBockDelegate (stringname, AddBookCallback call

Insert the following code segment at line 18:

LidBooklelegatsadder = {1, callback) =>

C.  Insert the following code segment at line 11:
delegatevoidhddBookDelegate (BookTracksr kookTracker);

Insert the following code segment at line 18:

AidBookDelegatedddDelegate = (bookTracker) =>

addbelegate {(tracker) ;

0. Insert the following code segment at line 14:

private static void PrintBodokCount (int i)

Insert the following code segment at line 18:

ack caliback = PrintBookCount;

3]
|
i

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 129

You use the Task.Run() method to launch a long-running data processing operation. The data processing operation often fails in times of heavy network
congestion.

If the data processing operation fails, a second operation must clean up any results of the first operation.

You need to ensure that the second operation is invoked only if the data processing operation throws an unhandled exception.

What should you do?

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

A. Create a task within the operation, and set the Task.StartOnError property to true.

B. Create a TaskFactory object and call the ContinueWhenAll() method of the object.

C. Create a task by calling the Task.ContinueWith() method.

D. Use the TaskScheduler class to create a task and call the TryExecuteTask() method on the clas

Answer: C

Explanation: Task.ContinueWith - Creates a continuation that executes asynchronously when the target Task completes.The returned Task will not be scheduled
for execution until the current task has completed, whether it completes due to running to completion successfully, faulting due to an unhandled exception, or

exiting out early due to being canceled.
http://msdn.microsoft.com/en-us/library/dd270696.aspx

NEW QUESTION 133

You are developing an application that uses the Microsoft ADO.NET Entity Framework to retrieve order information from a Microsoft SQL Server database. The

application includes the following code. (Line numbers are included for reference only.)

L T e T o O T

01 public DateTime? Orderliate;

02 Ifmeryablie<Order»> LookupUOrdersFor¥Year (int year)
83
o4 using (var context = new NHorthwindEntities())
S .

& var arders =

7 from order in context.Orders

| i
L
H o
i
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The application must meet the following requirements:
Return only orders that have an OrderDate value other than null.
Return only orders that were placed in the year specified in the year parameter.

You need to ensure that the application meets the requirements. Which code segment should you insert at line 08?

TTo T 17

A where order.OrderDate.Value.Yegr == yeax

B. where order.OrderDate.HasValue &£& order.OrderDate.Value.Year == year

T S e ) - ) - TP T o e an g ) ~ ] T3 T, ! = e
. whnere arder.uUrderliate.vglue = nal: && order.Urderiggte.vgalie.iegr > y

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 136

You are creating an application that manages information about your company's products. The application includes a class named Product and a method named

Save.

The Save() method must be strongly typed. It must allow only types inherited from the Product class that use a constructor that accepts no parameters.

You need to implement the Save() method. Which code segment should you use?
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A public static void Save (Product target)

=

ublic static void Save<T>(T target) where

~

C. public static wvoid Save<T>(T target) where T : new()

[V public static void Save<T>(T target) where T : Froduct, newl)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: The condition new() ensures the empty/default constructor and must be the last condition.

When you define a generic class, you can apply restrictions to the kinds of types that client code can use for type arguments when it instantiates your class. If
client code tries to instantiate your class by using a type that is not allowed by a constraint, the result is a compile-time error. These restrictions are called
constraints.

Constraints are specified by using the where contextual keyword. http://msdn.microsoft.com/en-us/library/d5x73970.aspx

NEW QUESTION 139
You are creating a class named Employee. The class exposes a string property nhamed EmployeeType. The following code segment defines the Employee class.
(Line numbers are included for reference only.)

= = X J4A0

public class
P, e ) Cr kA | R e '
internal string Employees

= =

W
t

it

1=

-

[ T e O e T T e T T e I

[RLETEE I LT BT O OFL T L B

The EmployeeType property value must meet the following requirements:

The value must be accessed only by code within the Employee class or within a class derived from the Employee class.

The value must be modified only by code within the Employee class.

You need to ensure that the implementation of the EmployeeType property meets the requirements. Which two actions should you perform? (Each correct answer
represents part of the complete solution. Choose two.)

A. Replace line 03 with the following code segment: public string EmployeeType

B. Replace line 06 with the following code segment: protected set;

C. Replace line 05 with the following code segment: private get;

D. Replace line 05 with the following code segment: protected get;

E. Replace line 03 with the following code segment: protected string EmployeeType
F. Replace line 06 with the following code segment: private set;

Answer: EF

Explanation: Incorrect:
Not D: Cannot be used because of the internal keyword on line 03.

NEW QUESTION 144

You are developing an application by using C#.

The application includes an object that performs a long running process.

You need to ensure that the garbage collector does not release the object's resources until the process completes.
Which garbage collector method should you use?

A. RemoveMemoryPressure()

B. ReRegisterForFinalize()
C. WaitForFullGCComplete()
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D. KeepAlive()

Answer: D

Explanation: The purpose of the KeepAlive method is to ensure the existence of a reference to an object that is at risk of being prematurely reclaimed by the
garbage collector.

Reference: GC.KeepAlive Method (Object)

https://msdn.microsoft.com/en-us/library/system.gc.keepalive(v=vs.110).aspx

NEW QUESTION 148
You are developing an application that will transmit large amounts of data between a client computer and a server. You need to ensure the validity of the data by
using a cryptographic hashing algorithm. Which algorithm should you use?

A. RSA
B. Aes
C. HMACSHA256
D. DES

Answer: C

NEW QUESTION 149

DRAG DROP

You are developing an application by using C#. The application will process several objects per second.

You need to create a performance counter to analyze the object processing.

Which three actions should you perform in sequence? (To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the
correct order.)

Add the

PerformanceCounterPermissionEntry objects to
the collection by calling the Add() method of the
collection.

Add the CounterCreationData objects to the
collection by calling the Add{) method of the
collection.

Create a

CounterCreationDataCollection collection. Then
create the counters as

CounterCreationData objects and set the
necessary properties,

Create a
PerformanceCounterPermissionEntryCollection
rollertinn.

Call the Create() method of the
PerformanceCounterCategory class and pass the
collection to the method.

Get the CategoryName property of the
PerformanceCounterPermissionEntry class.

Answer:

Explanation: Note:

: Example:

CounterCreationDataCollection counterDataCollection = new CounterCreationDataCollection(); // Box1

/I Add the counter. Box 1

CounterCreationData averageCount64 = new CounterCreationData(); averageCount64.CounterType = PerformanceCounterType.AverageCount64;
averageCount64.CounterName = "AverageCounter64Sample"; counterDataCollection.Add(averageCount64);

/I Add the base counter.

CounterCreationData averageCount64Base = new CounterCreationData(); averageCount64Base.CounterType = PerformanceCounterType.AverageBase;
averageCount64Base.CounterName = "AverageCounter64SampleBase"; counterDataCollection.Add(averageCount64Base); // Box 2

/I Create the category. Box 3 PerformanceCounterCategory.Create("AverageCounter64SampleCategory", "Demonstrates usage of the AverageCounter64
performance counter type.", PerformanceCounterCategoryType.Singlelnstance, counterDataCollection);

NEW QUESTION 151

You are developing an application. The application calls a method that returns an array of integers named customerlds. You define an integer variable named
customerldToRemove and assign a value to it. You declare an array named filteredCustomerlds.

You have the following requirements.
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Remove duplicate integers from the customerlds array.
Sort the array in order from the highest value to the lowest value.
Remove the integer value stored in the customerldToRemove variable from the customerlds array. You need to create a LINQ query to meet the requirements.

Which code segment should you use?

A intl] filteredCustomerlds = cus
B. int{] filteredCustomerids = cus
customerIdT moye) . CrderByDe

3-8 int fi:ltaredCuatomerTds = cus
customeridicRemove] .rdexrByDe
. = Sus

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

erids.Bistinct (] .OrderByDescending(x =»> xl.

tomerlds.Where(value => value !=

scending (x => A} .ToArray():

Lo
el
Lal
La!

L]

ayvil:

Explanation: The Distinct keyword avoids duplicates, and OrderByDescending provides the proper ordering from highest to lowest.

NEW QUESTION 154

You are developing a C# application that includes a class named Product. The following code segment defines the Product class:

public class Product

publiic int Id get: Fet:

publiic int CategorylId { get;
public string Name get; set
public bool IzValid get;: se

You implement System.ComponentModel.DataAnnotations.|ValidateableObject interface to provide a way to validate the Product object.
The Product object has the following requirements: The Id property must have a value greater than zero.

The Name property must have a value other
You need to validate the Product object. Whi

A pubise bosl Valsidars()

ITaValig= T3 3 O arring.IsRallO0rEnpty [Haxs
return IaValid
B puoolz < Yalidate Vs T t velidaticnlontext)
-
"Eroduct Id 13 reguirsd.V, new T
1f rEmpty (Hame)
1 "Erodact ma iE reguire , TEW Wape"
L public bool Equaiai t productlcValidace)
= produstiovalisate.Id > © atring. IafullCrEimptyiproducticValidace, Han
3Valid
D puolic ValidericonResuls Validacs
i validaviengesulic = anll
f (Ic <=
validatipadesult = ney {("Product Id i’ required."™)
if (atring.iekullOrInmpty{Rama))
validacipaResult = nev (FPreduct Hame iy reqguired.®):
CATUrD TAIZAATiONHASZAIT;
A. Option A
B. Option B
C. Option C
D. Option D
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Answer: B

NEW QUESTION 157
DRAG DROP
You have the following class:

public cla=s < >
public 32 ID { get: =set; }
puldlic 2 Hane get;: set:
public bool Eguals| other)

You need to implement IEquatable. The Equals method must return true if both ID and Name are set to the identical values. Otherwise, the method must return
false. Equals must not throw an exception.

What should you do? (Develop the solution by selecting and ordering the required code snippets. You may not need all of the code snippets.)

if | ~Eguals
(this . Hame, other.Name) reagurn IalEe;
il [thls.ID == pgLher.:iD Iefur Talse
return felse
return true;
1T (othey == nyil) retuarn fs:se;
break
if (thia.IDl != pther.iD) return false
if (!'thiz.Name.Eqgualsz
|othar are] )] recurn faise;:

Answer:

Explanation: In Box 3 we must use Name.Equals, not Object.Equals, to properly compare two strings. Incorrect:
Not Box 3: Object.Equals (obj, obj) compares the REFERENCE (true if they point to same object). Two strings, even having the same value will never have the
same reference. So it is not applicable here.

NEW QUESTION 161
You are creating a class named Game.

The Game class must meet the following requirements: Include a member that represents the score for a Game instance. Allow external code to assign a value to
the score member.

Restrict the range of values that can be assigned to the score member. You need to implement the score member to meet the requirements. In which form should
you implement the score member?

A. protected field

B. public static field

C. public static property
D. public property

Answer: D

Explanation: For a public the type or member can be accessed by any other code in the same assembly or another assembly that references it.
Reference: Access Modifiers (C# Programming Guide) https://msdn.microsoft.com/en-us/library/ms173121.aspx

NEW QUESTION 166
You are developing code for a class named Account. The Account class includes the following method:

puablic woid Deposit (int dolliars, int cents)
int totalfents = cents + this.cents;
int extralollars = totailCemts / 100;
this.cents = totalCents — 100 * extraCents;
this.dollars 4= dollars + extraDoliars;

You need to ensure that overflow exceptions are thrown when there is an error. Which type of block should you use?
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A. checked
B. try

C. using

D. unchecked

Answer: A

Explanation: C# statements can execute in either checked or unchecked context. In a checked context, arithmetic overflow raises an exception. In an unchecked
context, arithmetic overflow is ignored and the result is truncated.

checked Specify checked context. unchecked Specify unchecked context.

Reference: Checked and Unchecked (C# Reference) https://msdn.microsoft.com/en-us/library/khy08726.aspx

NEW QUESTION 169
You are developing an application that uses a .config file. The relevant portion of the .config file is shown as follows:

<aystem.diagnosticar

ctrace autoflush=Pfalise Indentzize=TQ">
<liateners>
<add mame="appLiztener”
type="Syatem.Diagnostics.EventLogTracelListener™®
initializelacam="TracelLiatenerLog® /=
<jlistenerss

</tracel
</zysten.diagnostics»

You need to ensure that diagnostic data for the application writes to the event tog by using the configuration specified in the .config file.
What should you include in the application code?

L.  Eventlog log = new EventLogl);

Inog.WriteEntry{"ITrace data...")::

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation: Incorrect:
Not B: There is only a “TraceListener” defined in the config file. In fact, there is no “eventlogDebugListener” class.

NEW QUESTION 172
You have the following code (line numbers are included for reference only):
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Ulclass

021
03 pub lic string barCeoleor { get:; set; )

04 pubklic string bcarName { get: set; )

05 private stactic <L > GetBars({string sglConnecticn3tring)
e {

07 Var oars = new < >():

0g fcoSqglCeonn = new {);

0s using (focSqlConn)
id {
11 | foeSqlCmd = new

("Select sqgiName,sgiColor from Animals", fooSglConn):

| feceSqlConn.Orvent()

3 using focSqglReader = foecSqlCmd.ExecuteReader
14 {
15
ig {

17 VAar bar = new {) :

18 par.parlame = | ) TeoSglReader [ "asglName™] ;
189 car.parColor = | yfocSglReader["sglColox"]:
20 cars.hdd{oar):
21 }
22 }
3 }
24 return pars:
28 3}
2¢6)

You need to identify the missing line of code at line 15. Which line of code should you identify?

A. using (fooSqlConn.BeginTransaction())
B. while (fooSglReader.Read())

C. while (fooSqlReader.NextResult())

D. while (fooSglReader.GetBoolean(0))

Answer: B

Explanation: The SglDataReader.Read method advances the SqglDataReader to the next record. Example:

SglCommand command =

new SqglCommand(queryString, connection); connection.Open();
SqglDataReader reader = command.ExecuteReader();

/I Call Read before accessing data. while (reader.Read())

{
ReadSingleRow((IDataRecord)reader);

}

/I Call Close when done reading. reader.Close();

}
Reference: SglDataReader.Read Method ()

https://msdn.microsoft.com/en-us/library/system.data.sqlclient.sqldatareader.read(v=vs.110).aspx

NEW QUESTION 173
HOTSPOT

You are developing an application that includes a Windows Communication Foundation (WCF) service. The service includes a custom TraceSource object named

ts and a method named DoWork. The application must meet the following requirements:
Collect trace information when the DoWork() method executes.

Group all traces for a single execution of the DoWork() method as an activity that can be viewed in the WCF Service Trace Viewer Tool.

You need to ensure that the application meets the requirements.

How should you complete the relevant code? (To answer, select the correct code segment from each drop-down list in the answer area.)
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static TraceScurce t=

= ey TraceScurce (MContaso™,

1

|
public woid DoWorki)

e

var originallid =

TEY
{
var guid = Suid.MewBuid():
| #
I a, CorrelmcionManager.Accivicyld = guid;
| |
)
finally

Trace.CorrelationManager.AceivicyId = originalld:

new Irasescurcel"Concosc™,

7}

Sourcelevels, Activity Tracing
Sourceleveds, Infor mation
Sourcelevels, Verbose
Sourcelevels.Critical

| I+
public void DoWork()

1]

r originalld =

H

a8
J

e 1t o

e . CorrelationManager ActivicyId:

var guid = faewGuidl)

ts. TraceTransfer(1, "Changing

ts. TraceTransfer(1, "Changing
b=, Tracelnfor mation("Start™);

ts. TraceEvent({TraceEventType.Start, 0, "Start™);

Activity”, guid);

Activity", originalcuid);

»CorrelaciconManagez. Acsivicyld = guad;

ts, Tracelnfor mation("Start™;

. TraceTransfer{l, "Changing Activity”, guid);
ts, TraceEvent{TraceEventType.
ts. TraceTransfer(1, "Changing Activity”, originalid);

Start, 0, "Start");

o=

-Is.Tran:aTranafer{l, "Charging
ts. TraceTransfer{l, "Changing
ts. Tracelnfor mation“Stop™;

Activity”, quid);
Activity", originalld);

. TraceTransfer(l, "Changing

ts. Tracelnfor mation: "Stop™);

ts. TraceEvent(TraceEventType.Stop, 0, "Stop");

Activiby", guid);

LorrelacionManager.Accivicyld = originalld:

Answer:

Explanation: Activities are logical unit of processing. You can create one activity for each major processing unit in which you want traces to be grouped together.
For example, you can create one activity for each request to the service. To do so, perform the following steps.

Save the activity ID in scope.
Create a new activity ID.

Transfer from the activity in scope to the new one, set the new activity in scope and emit a start trace for that activity.
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The following code demonstrates how to do this. Guid oldID = Trace.CorrelationManager.Activityld; Guid tracelD = Guid.NewGuid(); ts.TraceTransfer(0, "transfer",
tracelD);

Trace.CorrelationManager.Activityld = tracelD; // Trace is static ts.TraceEvent(TraceEventType.Start, 0, "Add request"); Reference: Emitting User-Code Traces
https://msdn.microsoft.com/en-us/library/aa738759(v=vs.110).aspx

NEW QUESTION 174

DRAG DROP

You are developing a class named Temperature.

You need to ensure that collections of Temperature objects are sortable.

How should you complete the relevant code segment? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

pukblic class

public class Temperature : IComparer

CompareTo

Egquals
thisz.Fahrenheit.CompareTootherTenperature.Fahrenheit) ;

otherTemperature.Fahrenheit.ComparelTo(this.Fahrenheit) ;

E double Fahrenhelr [ SET
public int
[ = ~T 987
1f job] == null} racurn 1;
3 .-tan:-T_F..mv-_—..-:-;_ru.r_-. = alg A4
if otherTenperatire 111
ITetur
T & ' TeT "
Answer:
Explanation:
public cla=sz Tempe = para =
I & double Fanrenheir = g8

return  this.Fahrenheit.ConpareTo(otherTenperature.Fahrenheit) ;

f g - T, 3 TERpeEranire™):

NEW QUESTION 179

DRAG DROP

You are developing an application that will populate an extensive XML tree from a Microsoft SQL Server 2008 R2 database table named Contacts.

You are creating the XML tree. The solution must meet the following requirements: Minimize memory requirements.

Maximize data processing speed.

You open the database connection. You need to create the XML tree.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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rToOT W pay
L *{LsacastLLeE | ZonEscEne™, "moprenc®) s
= e mriteLine(ropt).;
ToOT = GaYw piy = FE ¥
bt - i® TEEER'
contacts = E < P —
X . g -:::-:. [ 1--'?1.!--.--3
4] [FcontacEs i
1 ardarhy o .ConcaccId
£ gelect new {"contact™,
new [("cencactId®, c.Contactld)
[ . ' —— - o
18w ("“firat e", c.FirstName),
-y e - BY = ax=iTaman T ¥
new ("laztHam=", c.lLastName})
):
Answer:

Explanation: The second box should be XElement and not the XAttribute as contacts, as you cannot have XElement as a child of an XAttribute.

NEW QUESTION 183

DRAG DROP

You are creating a class named Data that includes a dictionary object named _data.

You need to allow the garbage collection process to collect the references of the _data object.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

EoirE L]

sratichicricnasycinn, WaskRefecenzer data; e <323

srariclicticmaryding, Intiiy dacs;

Sats.hdd(i FeakPelerence |nesy Clasals = 2), falae I3 ata A e L

date.RdS(4, (ImEE2l| 211 E )

= E { LT 1w COURTY 1+4
Answer:
Explanation: _ .

puslic class

staticDictionary<int, WeakReference» data;

public Data((int count)

data.hdd (i, new Weakfeference{new Ciass{i * Z), false)):

NEW QUESTION 186

You are creating a console application named Appl.

App1 retrieves data from the Internet by using JavaScript Object Notation (JSON).

You are developing the following code segment (line numbers are included for reference only):

0 public bool Validatedson(string json, Dictioparvy«<string, object®» result)
02 |

23

o4 Ly

05 {

C& result =-gerializer.Degerialiize<Dictzonary<atring, object>>(json):
07 recurn true;

25 cateh

11 return fals=e:

1z

13
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You need to ensure that the code validates the JSON string. Which code should you insert at line 03?

A. DataContractSerializer serializer = new DataContractSerializer();
B. var serializer = new DataContractSerializer();

C. XmiSerlalizer serializer = new XmlSerlalizer();

D. var serializer = new JavaScriptSerializer();

Answer: D

Explanation: The JavaScriptSerializer Class Provides serialization and deserialization functionality for AJAXenabled applications.

The JavaScriptSerializer class is used internally by the asynchronous communication layer to serialize and deserialize the data that is passed between the browser
and the Web server. You cannot access that instance of the serializer. However, this class exposes a public API. Therefore, you can use the class when you want
to work with JavaScript Object Notation (JSON) in managed code.

NEW QUESTION 187

You are developing an application.

The application contains the following code segment (line numbers are included for reference only):
01 Arraylist arrayl = new ArravList|]:
02 1imt va o

03 int wva
L R =
elenid

When you run the code, you receive the following error message: "Cannot implicitly convert type 'object” to 'int'. An explicit conversion exists (are you missing a

cast?)."

You need to ensure that the code can be compiled. Which code should you use to replace line 05?

A. var2 = arrayl[0] is int;

B. var2 = ((List<int>)arrayl) [O];

C. var2 = arrayl[0].Equals(typeof(int));
D. var2 = (int) arrayl [0];

Answer: D

NEW QUESTION 192

You need to write a method that retrieves data from a Microsoft Access 2013 database. The method must meet the following requirements:
Be read-only.

Be able to use the data before the entire data set is retrieved.

Minimize the amount of system overhead and the amount of memory usage. Which type of object should you use in the method?

A. SglDataAdapter
B. DataContext

C. DbDataAdapter

D. OleDbDataReader

Answer: D

Explanation: OleDbDataReader Class

Provides a way of reading a forward-only stream of data rows from a data source. Example:

OleDbConnection cn = new OleDbConnection(); OleDbCommand cmd = new OleDbCommand(); DataTable schemaTable;
OleDbDataReader myReader;

//Open a connection to the SQL Server Northwind database.

cn.ConnectionString = "Provider=SQLOLEDB;Data Source=server;User ID=login; Password=password;Initial Catalog=Northwind";

NEW QUESTION 195
You have the following code:

t32» items = new List<int>|)

LSS
- i

[Fw] d oo gy
[ T O o T o o O e R |

- om ow

You need to retrieve all of the numbers from the items variable that are greater than 80. Which code should you use?
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A

r resualt items.Take

20 ;

var

r result

result

T gy

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 200

DRAG DROP

You are creating a method that will split a single input file into two smaller output files. The method must perform the following actions:

Create a file named header.dat that contains the first 20 bytes of the input file. Create a file named body.dat that contains the remainder of the input file. You need
to create the method.

How should you complete the relevant code? (To answer, drag the appropriate code segments to the correct locations in the answer area. Each code segment
may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

feSource.Seek (20,

byte[] body = new byte[fsSource.Lengthi:;
byte!] body = new byte f=zSource.Length - 2071;
fzHeader . Write (header, 0O, header.Length):
fzHeader.Write (header, 20, header.Length);
fzBody.Write(body, 0, kody.Length);
fzBody.Write(body, 20, body.Length):
neing | T=Source = CpenFead (SourceFilePath) )
using | sSCy fzEeader = CpenWrite (HeaderF:1aPath)
EEing | fs8o0dy = F CpenWrite (BodyEilePath) )
cyte header = new byvte[20]1;
[aScurce,Read(header, 0, header.Length);
faSource.Bead(bedy, 0, body.lLengtch)
Answer:

Explanation: “offset” and “count” parameters of “Stream.Read” / “Stream.Write” methods ALWAYS refer to the array you are sending in the first parameter.
The position of fsSource advances as you read it, unless you seed on it.

NEW QUESTION 202

DRAG DROP

You are adding a function to a membership tracking application. The function uses an integer named memberCode as an input parameter and returns the
membership type as a string.

The function must meet the following requirements: Return "Non-Member" if the memberCode is 0. Return "Member" if the memberCode is 1.

Return "Invalid" if the memberCode is any value other than 0 or 1. You need to implement the function to meet the requirements.

How should you complete the relevant code? (To answer, drag the appropriate statements to the correct locations in the answer area. Each statement may be
used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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defauit
- - —_—— =P ] - - - S -
private =tring CGetMemberType (int memberCode)
Fwitch 3
1
break =Tring menmberivpe;
1 e
{
.r'-l_
memberType = "Non-Membexr":
L
ra
T =
-
1 s = TR0 e o s e FT
memberType Member";
.
;-I..-\..;-.,--—1 = — T omrr= - o Wi
n’-n#---;'—;_ - - ".---- »
-
»
return menmberivpe;
Answer:

Explanation: Example:

int caseSwitch = 1; switch (caseSwitch)

{

case 1:

Console.WriteLine("Case 1"); break;

case 2:

Console.WriteLine("Case 2"); break;

default: Console.WriteLine("Default case"); break;

}

Reference: switch (C# Reference) https://msdn.microsoft.com/en-us/library/06tc147t.aspx

NEW QUESTION 207

You are developing an application that will be deployed to multiple computers. You set the assembly name.

You need to create a unique identity for the application assembly.

Which two assembly identity attributes should you include in the source code? (Each correct answer presents part of the solution. Choose two.)

A. AssemblyTitleAttribute

B. AssemblyCultureAttribute
C. AssemblyVersionAttribute
D. AssemblyKeyNameAittribute
E. AssemblyFileVersion

Answer: BC

Explanation: The AssemblyName object contains information about an assembly, which you can use to bind to that assembly. An assembly's identity consists of
the following:

Simple name Version number

Cryptographic key pair Supported culture

B: AssemblyCultureAttribute

Specifies which culture the assembly supports.

The attribute is used by compilers to distinguish between a main assembly and a satellite assembly. A main assembly contains code and the neutral culture's
resources. A satellite assembly contains

only resources for a particular culture, as in [assembly:AssemblyCultureAttribute("de")] C: AssemblyVersionAttribute

Specifies the version of the assembly being attributed.

The assembly version number is part of an assembly's identity and plays a key part in binding to the assembly and in version policy.

NEW QUESTION 211

You are developing an application.

You need to declare a delegate for a method that accepts an integer as a parameter, and then returns an integer.
Which type of delegate should you use?

A. Action<int>

B. Action<int, int>
C. Func<int, int>
D. Func<int>

Answer: C

Explanation: The Func<T, TResult> delegate encapsulates a method that has one parameter and returns a value of the type specified by the TResult parameter.
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Reference: https://msdn.microsoft.com/en-us/library/bb549151(v=vs.110).aspx

NEW QUESTION 214

You are developing a class named Scorecard. The following code implements the Scorecard class. (Line numbers are included for reference only.)

01 publiic class Scorecard
62 {
03 private Dricrtionary<string, int?» players = new Lictionary<string, int>|():
o4 puklic void Addistring name, int =score)
05 i
o0& players.Add (name, 3Ccore);
a7
05
You create the following unit test method to test the Scorecard class implementation:
public void UnaitTe=stl ()
corecard gcorecard = new Sco ardl():
scorecard.Add("Playezi™, 10);
scorecard.add ("PlayexzZ™, 15);
int expectedicore = 15;
int sctwallScore = scorecard!"Playeri"]:
Lzzert.AreEgual [expectedScore, actualScore):;
You need to ensure that the unit test will pass. What should you do?
A Insert the following code segment at line 08:
public int thisistring namej
get
return playersinamel ;
1
3
B. Insert the following code segment at line 08:
public Dictionary<string, int>» Players
get
return players:
C. Replace line 02 with the following code segment:
public Dictionary<string, int>» Players = new Dictionary<string, int>{):

U.  Insert the following code segment at line 08:

public int =score(string name)

return plaverzname];

}

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: You need to add indexer to the class.

NEW QUESTION 219
You are developing an application that will parse a large amount of text.
You need to parse the text into separate lines and minimize memory use while processing data. Which object type should you use?

A. DataContractSerializer
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B. StringBuilder
C. StringReader
D. JsonSerializer

Answer: C

Explanation: There are many ways to separate a string into lines. With StringReader, we read lines from a string individually in the order they appear. This type
enables us to access string data through a streamoriented interface.
Reference: http://www.dotnetperls.com/stringreader

NEW QUESTION 223
You are developing code for an application that retrieves information about Microsoft .NET Framework assemblies.
The following code segment is part of the application (line numbers are included for reference only):

0 publiic void ViewHMetadata(atring filePath)
02 4

03 var bytes = File.BeadAllBytes(filePath);
IE!

05

Of |

You need to insert code at line 04. The code must load the assembly. Once the assembly is loaded, the code must be able to read the assembly metadata, but the
code must be denied access from executing code from the assembly.
Which code segment should you insert at line 04?

A. Assembly.RefilectionOnlyLoadFrom(bytes);
B. Assembly.RefilectionOnlyLoad(bytes);

C. Assembly.Load(bytes);

D. Assembly.LoadFrom(bytes);

Answer: B

Explanation: The Assembly.RefilectionOnlyLoad method (Byte[]) loads the assembly from a common object file format (COFF)-based image containing an
emitted assembly. The assembly is loaded into the refilection-only context of the caller's application domain.

You cannot execute code from an assembly loaded into the refilection-only context. Incorrect:

Not A: The Assembly.RefilectionOnlyLoadFrom method (String) loads an assembly into the refilectiononly context, given its path.

Reference: Assembly.RefilectionOnlyLoad Method (Byte[]) https://msdn.microsoft.com/en-us/library/h55shelh(v=vs.110).aspx

NEW QUESTION 227
You are developing a method named GenerateHash that will create the hash value for a file. The method includes the following code. (Line humbers are included
for reference only.)

pubiic bytel] GenerateHash(string filename, string hashilgorithm)

B I

- T W T

m.Create (hashilgorithm) ;

L T e T S B [ ]
£ad
L=
fu
d
n
DI
b 3]
=}
i
ot
L
H
B
I
%}
[}
Il
I

Nl

You need to return the cryptographic hash of the bytes contained in the fileBuffer variable. Which code segment should you insert at line 05?

e 5 ey &R
h, oucputBuffer,

A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

Explanation: The ComputeHash(Byte[]) method computes the hash value for the specified byte array.

NEW QUESTION 228
You are modifying an existing application that manages employee payroll. The application includes a class named PayrollProcessor. The PayrollProcessor class
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connects to a payroll database and processes batches of paychecks once a week.
You need to ensure that the PayrollProcessor class supports iteration and releases database connections after the batch processing completes.
Which two interfaces should you implement? (Each correct answer presents part of the complete solution. Choose two.)

A. IEquatable
B. IEnumerable
C. IDisposable
D. IComparable

Answer: BC

Explanation: B: IEnumerable to implement iteration.

Exposes an enumerator, which supports a simple iteration over a non-generic collection. C: IDisposable Interface to implement disposing connections.
Defines a method to release allocated resources.

The primary use of this interface is to release unmanaged resources.

NEW QUESTION 229

You are developing an application that will read data from a text file and display the file contents. You need to read data from the file, display it, and correctly
release the file resources.

Which code segment should you use?

A, string inpuwtline;

using (Streamfesder reader = new StregmBesder ("data.txt"))
while ([ (inputline = resder.Besdline(]l] = null]
...... WriteLine (inputLine) ;

B. s=string inputline;

= 5 = reader = null:;
using (reader = new SCreamfeader ("data.txt™)) ;
while ((inputlLine = reader.ReadLine()) != mull
WritelLine [inputLine);

- = new StreamBeader ("data.txt™);

while ((inputlLine = reader.BeadLine()) ! nuil]

riteline (inputLine) ;

D, =tring inputline;

Stre reader = mull;
LTy
e Jmw = = = = L — + = "
regder 2w = ("data.CxE™);
hile ({inputline = reader.BeadLine()) != null)
e.WritelLine (inputLine) ;

der.Close|():
ader.Dispose|):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: The StreamReader object must be part of the using statement.

NEW QUESTION 234

DRAG DROP

You are creating a method that saves information to a database.

You have a static class named LogHelper. LogHelper has a method named Log to log the exception. You need to use the LogHelper Log method to log the
exception raised by the database server. The solution must ensure that the exception can be caught by the calling method, while preserving the original stack
trace.

How should you write the catch block? (Develop the solution by selecting and ordering the required code snippets. You may not need all of the code snippets.)
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catch | } =3

Throw!
thiow ne ():
chrow &x
Log (ex)
thiow new 3 2Pt ()=
Answer:

Explanation: Note:

Catch the database exception, log it, and then rethrow it.

* SQLEXxception

An exception that provides information on a database access error or other errors. Example:
catch (SglException ex)

{

LogHelper.Log(ex); throw;

}

NEW QUESTION 238
You are developing an application.
The application contains the following code segment (line numbers are included for reference only):

01 Arraylist arrayl = new Arraylisti():
02 Int varl = 10;

03 int wvarz:;

04 arrayl.Add(varl):

05 vard = arraylioil:

When you run the code, you receive the following error message: "Cannot implicitly convert type 'object” to 'inf. An explicit conversion exists (are you missing a
cast?)."
You need to ensure that the code can be compiled. Which code should you use to replace line 05?

A. var2 = ((List<int>) array1) [0];

B. var2 = array1[0].Equals(typeof(int));
C. var2 = Convert.Tolnt32(array1[0]);
D. var2 = ((int[])array1)[0];

Answer: C

Explanation: The Convert.Tolnt32 method converts a specified value to a 32-bit signed integer. Reference: https://msdn.microsoft.com/en-
us/library/system.convert.toint32(v=vs.110).aspx

NEW QUESTION 240
You have the following code (line numbers are included for reference only):
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01 pubklic clasas EFrograr

o2 |

03 Erivate static System.Diagnostics.itorwatch execTimefr =
o4 new System.Diagnostics.Stopwatchi)r

o5 pukblic static vold Delayiint delay)

D& 1

o7 ezd.Sleep{delayy;

o8 }

03 public static void LoglongExec (string msg
10 i

11 if ( execTimer.Elapsed.3sconds >= 5)

iz throw new Excepticn|

i3 string.Formatc ("Executien is too long > {0} > {1}",
14 msy, _execTimer.Elapsed.TetalMillisecends));
15 1

16 pukclic static volid Maini}

17 {

18 _execTimer.S5tart(};

15 LIy

20 i

21 Delay {10} -

2z LoglongExec {"Delay(10) ") ;

23 Delay {5000} ;

24 LoglongExec ("Delay (5000} ")

25 }

26 catch {(Exce 1T EX

27 I

2B

Z5

30 ¥

31 '}

You need to ensure that if an exception occurs, the exception will be logged. Which code should you insert at line 28?
A5 I ;

5';-21':.-:'..3—';::31:;:5. i B Trace = nay —{ = - [
B e

e, TracelEvent | Evenctliype . Zrroy, eX.HResnlr

ex.HRezulc);

D iogEntry = new i
JogEncyry.Source = FRuamiicacion®™:
logEntry.WriteEntry(ex.Meszage, Error]

A. Option A

B. Option B

C. Option C

D. Option D

Answer: B

Explanation: * XmlWriterTraceListener

Directs tracing or debugging output as XML-encoded data to a TextWriter or to a Stream, such as a FileStream.

* TraceListener.TraceEvent Method (TraceEventCache, String, TraceEventType, Int32) Writes trace and event information to the listener specific output.
Syntax: [ComVisibleAttribute(false)] public virtual void TraceEvent( TraceEventCache eventCache, string source, TraceEventType eventType, int id

)

Reference: XmlWriterTraceListener Class

https://msdn.microsoft.com/en-us/library/system.diagnostics.xmlwritertracelistener(v=vs.110)

NEW QUESTION 245
You are creating a class library that will be used in a web application. You need to ensure that the class library assembly is strongly named. What should you do?

A. Use the gacutil.exe command-line tool.

B. Use the xsd.exe command-line tool.
C. Use the aspnet_regiis.exe command-line tool.
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D. Use assembly attributes.

Answer: D

Explanation: The Windows Software Development Kit (SDK) provides several ways to sign an assembly with a strong name:

* Using the Assembly Linker (Al.exe) provided by the Windows SDK.

* Using assembly attributes to insert the strong nhame information in your code. You can use either the AssemblyKeyFileAttribute or the
AssemblyKeyNameAttribute, depending on where the key file to be used is located.

* Using compiler options such /keyfile or /delaysign in C# and Visual Basic, or the /KEYFILE or

/DELAYSIGN linker option in C++. (For information on delay signing, see Delay Signing an Assembly.)

NEW QUESTION 250

An application is throwing unhandled NullReferenceException and FormatException errors. The stack trace shows that the exceptions occur in the GetWebResult()
method.

The application includes the following code to parse XML data retrieved from a web service. (Line numbers are included for reference only.)

01 int GetWebBesult (XEilement result)

=
1
i
it
m
m
H
11}
m
H
m
i1}
[+
|
it
L&)
[
:
m
i
it
H
m
Ly
i
[n}
i
i}
m
...1
oy
i}
I
%
m

You need to handle the exceptions without interfering with the existing error-handling infrastructure. Which two actions should you perform? (Each correct answer
presents part of the solution. Choose two.)

A Replace line 03 with the following code segment:

int returnvValue;
int.TryParse (result.Element ("response™) . Value, out returnValue);
return returnValue;

B. Replace line 02 with the following code segment:

C. Register an event handier with AppDomain.CurrentDomain.UnhandiedException.

D, Use a try...catch statement to handle the exceptions in the GetWebResult() metheod.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: AC

Explanation: A: The TryParse method is like the Parse method, except the TryParse method does not throw an exception if the conversion fails. It eliminates the
need to use exception handling to test for a FormatException in the event that s is invalid and cannot be successfully parsed.

C: UnhandledException event handler

If the UnhandledException event is handled in the default application domain, it is raised there for any unhandled exception in any thread, no matter what
application domain the thread started in. If the thread started in an application domain that has an event handler for UnhandledException, the event is raised in that
application domain.

NEW QUESTION 255
You are developing an application that retrieves patient data from a web service. The application stores the JSON messages returned from the web service in a
string variable named PatientAsJson. The variable is encoded as UTF-8. The application includes a class named Patient that is defined by the following code:

pablic class Patient
publiic bool IsActive get; set;
publiic string Mame get: =set: }
public int Id get: =zet:

You need to populate the Patient class with the data returned from the web service. Which code segment should you use?
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A La : . T i r JaSerialiizer = new Dat ] =1 3 i1zer (typeof (Patient) )
u=ing [(MemoryStr apreanr = pay MeamoryStrsam (Er Aing.JTF2 . Geaclycean (Parianchedeon) |
patientFromi=son = (& =nr]jeSerializer.Beadlhieco (actream) ;
B X ay rar XElLSerializer = nay MmlE =r (typacf (Fatienc))
using [Mem: LTEAE STIeAR = new MemcryiStream(E . JCFE . Gec3yces (Facieatisdson)))
patisntiromJdaon = (Fatient)miSeriaiizer Dessarialize (scream):

C. Z 1aSerializer = new - EJ= : T {typeof (PFatient)):
using (MemoryScreaam scream = nay HamorySrtream(En i1mg UTFE.GarByrceas (Bacieanthadeon) )
patiantFromJzon = maw Far: c():

JsSerlaiizar.wWritedblect (anIeanm, patisntbzomJdaon):

D formatter = new BinaryFozmatter():
1T ATYeam = nay E [Batirenthal=cn JLpen, f Accass, Head, F =Share,Read) ;
] patiencFromJgsan = ([F | formatcer.Deserialize (acream)
atream.Cloza():

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 258
You are developing a class named EmployeeRoster. The following code implements the EmployeeRoster class. (Line numbers are included for reference only.)

01 public class Employeesboster

8z 4

03 private LDictiomary<string, int’» employees = new LDictionarv<string, int>();
04 public woid Add(string name, Iint saliary)

G5 {

L empliovees.Add (name, =alary):;

L]
|

4}
(i}

2
[Te}

}
You create the following unit test method to test the EmployeeRoster class implementation:

public void UnitTestl()

{
EnployeeRoster employeeRoster = newy EmployeeRoster () :
enmployeeRoster . Add ("David Jon=ss", 50000);
enmployeeRoster . Add ("Phylliis Harrizs"™, 75000);
int expectedSalary = T3000;
int actuwalSalary = employeeRoster{"Phyliis Harri="i;

Azzert.Arefdgqual (expectedSalary, actualSalary):’

You need to ensure that the unit test will pass. What should you do?
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A. Insert the following code segment at line 08:

public Dictionary<string, int>» Employees

public Dictionsry<string, int> Employvees = new [Dictionsry<string, int>[];

0. Insert the following code segment at line 08:
public int salarylstring name)

retarn employeesname]:

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 263

You are developing an application that produces an executable named MyApp.exe and an assembly named MyApp.dIl.

The application will be sold to several customers.

You need to ensure that enough debugging information is available for MyApp.exe, so that if the application throws an error in a customer's environment, you can
debug the error in your own development environment.

What should you do?

A. Digitally sign MyApp.dll.

B. Produce program database (PDB) information when you compile the code.

C. Compile MyApp.exe by using the /funsafe compiler option.

D. Initializes a new instance of the AssemblyDelaySignAttribute class in the MyApp.dll constructor.

Answer: B
Explanation: A program database (PDB) file holds debugging and project state information that allows incremental linking of a debug configuration of your

program. A PDB file is created when you build with /debug. Reference: Program Database Files (C#, F#, and Visual Basic)
https://msdn.microsoft.com/library/ms241903(v=vs.100).aspx

NEW QUESTION 265
You are modifying an existing banking application.
The application includes an Account class and a Customer class. The following code segment defines the classes.
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pubklic Account (decimal kalance, int term, decimal ratce)

ubiic decimai Jalance get: 35etr
publiic decimal Rate { get: set:;
publiic int Term { getc:; sec: }
cilass Customey
public Customer (S2tring IrrstHame, string LasthName, = CElon{ACCe T¥» accounts)

Firsclhiame = firatclame;
Lastliame = lastName:;
Accountlollegtion = accounts:

public string FirscWName { get; set; }
=3

publiic string LastNampe { ger: ser;
public ¥t ChAccounty> AccounctCollection get; sat;

1
|13

You populate a collection named customerCollection with Customer and Account objects by using the following code segment:

Collection<Cust

omer®> customerCollection = new Collection<Customer>();

colilection<Accounty> customerAccounts = new Collectiomn<account>() !
customerficcount s, add (new Account (LO00m, 2, O0.025m)) !
customerdccounts.Add (new Lccount (3000m, 4, ©.04L5m}):
customerkocounts.Add (new Zccount (5000m, &, O.04&5m)):

T

stomer ("David®, "Jooes", customerlccounts));

customerCollection.fdd(new T

You create a largeCustomerAccounts collection to store the Account objects by using the following code segment:

Collection<Account> largeCustomerAccounts = new Collection<Account> ();

All accounts with a Balance value greater than or equal to 1,000,000 must be tracked. You need to populate the largeCustomerAccounts collection with Account
objects. Which code segment should you use?

A foreach (Customer customer in customerColliection)
foreach (Account account in customer.Accountlolilection)
if (account.Balance >= 1000000m)

customer.AccountColiection.&dd (account) ;

ot

B. foreach (Rccount customer in customerCollection]
foreaeh (Account account in largeCustomericcounts)
if (account.Baiance »= 1000000m)

iargeCustomerfAccounts.Add (account) ;

) foreach (Cusztomer customer in customerColliection]
foreach (Account account in customer.Accountlollection)
if (account.Baiance »= 1000000m)

iargeCustomerAccounts.Add (account) ;

: each [Account unt- in largeCustomerld unts
O foreac account  in largeCustomeriAccounts
foreach (Cusztomer customer im customerCollection)
if (account.Zalance »>= i000000m)

customer ., AccountCollection.Add (account) ;

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: C

NEW QUESTION 268

You are implementing a method named GetValidEmailAddresses. The GetValidEmailAddresses() method processes a list of string values that represent email
addresses.

The GetValidEmailAddresses() method must return only email addresses that are in a valid format. You need to implement the GetValidEmailAddresses() method.
Which two code segments can you use to achieve this goal? (Each correct answer presents a complete solution. Choose two.)

A privace ITETLC {4 » GertVealidEnsiifddresaes (3TILN0) ANJWL, STEIRG pPATT2ER]
TAT IAQeEX = Oew ] patters
AT mATCches = regeX.Matches (Linpuc)
var validfmailiddreszsea = new < =1}
foresach Mat natch in natches=)
if | !meceh, Success)
aliciEmailifddresses Add {Eatch.Value)
return validfmaildddressss;
B. private static < > GerValidimailiddressss{ztring input, =tring pattern)
*af Ieged = noy {pactarn)
rar mAtzhes = regey . Matshes (inpuazt):
zeturn (from matsh -n matches where match.Success select matoh.Value) .Tolisc ()
I DELVETE 3CA < > GetVal dima:liddresssa{srring 1nDUC, SLring DATteEn)
7AI regeExi = ned Fagex(pattezn):
Tal DATohes = regex.daToheslinput):
raturn (from Mar martsn 10 matccker: where match.S5uccess sslect macch.Succes=.ToStringi Taliac ()
0. privete scatic < > GecValidifmalliddresses[atring laput, String patiern)
Ar regex = ned |pATTern)
“ar matthes = regex. Hatches (inpiat)
rar validimsiliddreszes = nevw =0 ~q)3
--.:ﬂt.'.'ug atol in natches)
I [maTch.Sucsess)
validEmeilhddressss, Rid (match.Value)
raturn validfmailRddressas
A. Option A
B. Option B
C. Option C
D. Option D
Answer: BD

Explanation: Note:
* List<T>.Add Method
Adds an object to the end of the List<T>.

NEW QUESTION 273
You are troubleshooting an application that uses a class nhamed FullName. The class is decorated with the DataContractAttribute attribute. The application includes
the following code. (Line numbers are included for reference only.)

01 class Program

0z i

03 Memorvitrean WriteName (Name name

04

0o var ms = new MemorvStresm|() s

i var bhinary = XmlilictionaryWriter.CreateBinaryWriter (ma)
a7 rar Zer = new DataContractSeriglizer (typecf (Fullliame)):
o8 ger.Writelbhject (binaxry, name);

05

19 return ms3;

i1

i B

You need to ensure that the entire FullName object is serialized to the memory stream object. Which code segment should you insert at line 09?

A. binary.WriteEndDocument();

B. binary.WriteEndDocumentAsync();
C. binary.WriteEndElementAsync();
D. binary.Flush();
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Answer: D

Explanation: Example:

MemoryStream stream2 = new MemoryStream();

XmiDictionaryWriter binaryDictionaryWriter = XmliDictionaryWriter.CreateBinaryWriter(stream?2); serializer.WriteObject(binaryDictionaryWriter, recordl);
binaryDictionaryWriter.Flush(); Incorrect:

Not A: throws InvalidOperationException.

Reference: https://msdn.microsoft.com/en-us/library/ms752244(v=vs.110).aspx

NEW QUESTION 277

You need to write a method that retrieves data from a Microsoft Access 2013 database. The method must meet the following requirements:
Be read-only.

Be able to use the data before the entire data set is retrieved.

Minimize the amount of system overhead and the amount of memory usage. Which type of object should you use in the method?

A. DbDataReader
B. DataContext

C. unTyped DataSet
D. DbDataAdapter

Answer: A

Explanation: DbDataReader Class

Reads a forward-only stream of rows from a data source.

Reference: DbDataReader Class
https://msdn.microsoft.com/en-us/library/system.data.common.dbdatareader(v=vs.110).aspx

NEW QUESTION 282
You are creating a console application named Appl. Appl will validate user input for order entries.
You are developing the following code segment (line numbers are included for reference only):

Ol Consclie.Write("Enter unit price: "j:
02 string price = Console.ReadLine():
04 nsole . WriteLine ("VWalid price™) :
05 elze

06 msole . WriteLine ("Invalid price™)

You need to complete the code segment.
The solution must ensure that prices are positive and have two decimal places. Which code should you insert at line 03?

s if [!'Hegex.IsMatch(price, E&7" (—)3h\d+ (h.dhd) 2E7))
B. if (Begex.IsMatchi{price, 89" (—)7\d+(\.h\dhd)2E87))
. = eg = mew Hegex (87 %Wd+ (M. dhd) 28T ;

if (:eg.:sHatct(p:iﬁei]

ik P i o Zn- | T Ao e We R R T
Q new Hegox | # | Fhd+ (Y hdhd) 287 ;

if (reg.IzMatcch(price))

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: Md+(.\d\d)?$ only allows positive numbers. Incorrect:
A-)2\d+(\d\d)?$ allows for negative numbers because of the (-) group

NEW QUESTION 287
You have the following code:

4

t32» Items = new List<int»|()

]

[Kx] dCo gy
[ T T Y A B |

[
-

- o o

L =
I

You need to retrieve all of the numbers from the items variable that are greater than 80. Which code should you use?

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

A var ¥resulit = from i in items=
where £ > 80
Select ]

B. var result = from i in item=
groupby 'L into grouped
where grouped.Xey g0
Felect: g

G var result = items.Take [80) ;

0. war result = items.S5kip(30):

A. Option A

B. Option B

C. Option C

D. Option D

Answer: A

NEW QUESTION 288
You are evaluating a method that calculates loan interest- The application includes the following code segment. (Line numbers are included for reference only.)

21 private static decimal Calculateinterest{decimal IopanAmount, 1nt IoanTerm]
02 {

o3 decimal interesthmount;

G4 decimal IpanBRate;

05 if (lLoanTerm > O 5& lognTerm < 5 5& loanfmount < S000m)
O&

o7 loanBate = 0.045m;

g

o5 glze if (IopanTerm > 5 && loanimoant > 5000m)

11 IpanFate = 0.085m;

1z -

13 elge

14 £

15 loanPate = 0.055m;

16

17 interestimount = loanimount * IoanRate * IoanTerm;

13 return interestimount;

158 }

When the loanTerm value is 3 and the loanAmount value is 9750, the loanRate must be set to 8.25 percent.
You need to adjust the loanRate value to meet the requirements. What should you do?

A. Replace line 04 with the following code segment: decimal loanRate = 0.0325m);

B. Replace line 17 with the following code segment: interestAmount = loanAmount * 0.0825m * loanTerm;
C. Replace line 15 with the following code segment: loanRate = 0.0825m;

D. Replace line 07 with the following code segment: loanRate = 0.0825m;

Answer: C

NEW QUESTION 292

You are implementing a new method named ProcessData. The ProcessData() method calls a thirdparty component that performs a long-running operation.
The third-party component uses the IAsyncResult pattern to signal completion of the long-running operation.

You need to ensure that the calling code handles the long-running operation as a System.Threading.Tasks.Task object.

Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A. Call the component by using the TaskFactory.FromAsync() method.

B. Create a TaskCompletionSource<T> object.

C. Apply the async modifier to the method signature.

D. Apply the following attribute to the method signature: [Methodimpl(MethodImplOptions.Synchronized)]

Answer: AB

Explanation: A: TaskFactory.FromAsync Method

Creates a Task that represents a pair of begin and end methods that conform to the Asynchronous Programming Model pattern. Overloaded.

Example:

TaskFactory.FromAsync Method (IAsyncResult, Action<IAsyncResult>)

Creates a Task that executes an end method action when a specified IAsyncResult completes.

B: In many scenarios, it is useful to enable a Task<TResult> to represent an external asynchronous operation. TaskCompletionSource<TResult> is provided for
this purpose. It enables the creation of a task that can be handed out to consumers, and those consumers can use the members of the task as they would any
other. However, unlike most tasks, the state of a task created by a TaskCompletionSource is controlled explicitly by the methods on TaskCompletionSource. This
enables the completion of the external asynchronous operation to be propagated to the underlying Task. The separation also ensures that consumers are not able
to transition the state without access to the corresponding TaskCompletionSource.
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Note:
* System.Threading.Tasks.Task Represents an asynchronous operation.

NEW QUESTION 296
You are modifying an application that processes loans. The following code defines the Loan class. (Line numbers are included for reference only.)

01 public class L

&

03

04 private int term;

05 private const int MeximumTerm = 10;
S private const decimal Rate = 0,.034m;
o7 public int Term

o8 ]

0o et

11 return  LTerm;

12 } -

13 et

_.I': {

5 if (value <= MaximumTerm)

1&

17 _term = value;

15 elze

Z0

21

22

23 ;

=4

25 }

26 public delegate vwoid MaximumTermBeachedHandier (object source, Zventargs e);

Loans are restricted to a maximum term of 10 years. The application must send a notification message if a loan request exceeds 10 years.
You need to implement the notification mechanism.
Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A, Insert the following code segment at line 03:

publiic string MaximmmTermEeachedEvent { get: set;

B.  Insertthe following code segment at line 21:

if (CmMaxirmumTermBegched '= nulil)

CnMaximemTermBeached (thiz, new Eventiarg=z(])):;

C.  Insert the following code segment at line 03:

private string MazimunTermBeachedEvent:

U, Insert the following code segment at line 03:

public event MaxmumTermBeachedHandier OnMaximpumTermBeached:

E. Insert the following code segment at line 21:

value = MaximumTerm;

F.  Insert the following code segment at line 21:

valuse = 9;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: BD

NEW QUESTION 299
An application contains code that measures reaction times. The code runs the timer on a thread separate from the user interface. The application includes the
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following code. (Line numbers are included for reference only.)

01 static int RunTimer(CancellaticnToken cancellationToken]

02 o

03 var time = 0;

04 while (!cancellatzonlToken.iIzCancellatzionReguested)

05 time++;

OB return time;

07 ']

03 static void Main(stringli args)

08

10 yar tokenSource = new celiatir ok ouaree (]

11 var task = T: Factory.S5tarctNew<int>|( () =» RunTimer (tokenSource.Token)):;
1z sle.Writeline("Press [Enter] to stop the timer."):

13 3 ReadLine () :

15 ie.WriteLine{"Timer stopped at {0}", task.Gethwaiter|) .GetResulc{)):
16 I Readline () )

g X

You need to ensure that the application cancels the timer when the user presses the Enter key. Which code segment should you insert at line 14?

A. tokenSource.Token.Register( () => tokenSource.Cancel() );
B. tokenSource.Cancel();

C. tokenSource.lsCancellationRequested = true;

D. tokenSource.Dispose();

Answer: B

Explanation: The CancellationTokenSource.Cancel method communicates a request for cancellation, and specifies whether remaining callbacks and cancelable

operations should be processed.
Incorrect:

Not C: The IsCancellationRequested property is ReadOnly. Reference: CancellationTokenSource.Cancel Method (Boolean) https://msdn.microsoft.com/en-

us/library/dd321703(v=vs.110).aspx

NEW QUESTION 303
You are developing an application that will process personnel records. The application must encrypt highly sensitive data.
You need to ensure that the application uses the strongest available encryption. Which class should you use?

A. System.Security.Cryptography.DES
B. System.Security.Cryptography.Aes
C. System.Security.Cryptography.TripleDES
D. System.Security.Cryptography.RC2

Answer: B

Explanation: Advanced Encryption Standard (AES) has been adopted by the U.S. government and is now used worldwide. It supersedes the Data Encryption

Standard (DES). AES key sizes are 128, 192 or 256 bits.

Incorrect:

DES, 3DES, and RC2 are all less secure.

Reference: https://en.wikipedia.org/wiki/Advanced_Encryption_Standard

NEW QUESTION 305
You are developing an application that uses a .config file. The relevant portion of the .config file is shown as follows:
<system.diagnostics>

<trace autoflush="fazlse" indentsize="0">

initializelata="TracelistenerLog" />

</tracer

«/avsten.diagnostica:

You need to ensure that diagnostic data for the application writes to the event log by using the configuration specified in the .config file.

What should you include in the application code?

LY Hebug . WriteLine ("Trace data...");
B Setbut (new Stres riter("Syvetem.Diagnostics.EventLogTracelistener™) ) ;
= . WritelLine (®"Trace data L B
o = WriteLine ["Trace data LA
0. log = new 0
log.WriteEntry("Irace data L

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation: The Trace.Writeline statements will be included in the Release compilation by default. Incorrect:
Not A: Debug.Writeline() statements will not be included in the Release compilation by default.

NEW QUESTION 308

DRAG DROP

You create an assembly named Assembly1.dll.

You need to ensure that Assembly1.dll can be deployed to the global assembly cache (GAC). Which commands should you run? (To answer, drag the appropriate
programs to the correct locations. Each program may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to
view content.)

al.exe
Program -k assemblykey.snk
gacutil.exe
; Program Jout:dzsemblyl.dll fkeyfile assemblykey. snk
ildasm.exe

resgen.exe

sn.exe

Answer:

Explanation: The al.exe command has the /out and /keyfile options. Incorrect:
gacutil.exe command does not have the /out and /keyfile options.
Reference: https://msdn.microsoft.com/en-us/library/ex0ss12c(v=vs.110).aspx

NEW QUESTION 313

DRAG DROP

You have an application that accesses a Microsoft SQL Server database.

The database contains a stored procedure named Procl. Procl accesses several rows of data across multiple tables.

You need to ensure that after Procl executes, the database is left in a consistent state. While Procl executes, no other operation can modify data already read or
changed by Procl. (Develop the solution by selecting and ordering the required code snippets.

You may not need all of the code snippets.)

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs ":J https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

5] cranzaction = pconnactiaon.Begi
plransactlion
[ Tar wm T o ar - o ~
{Syatem.latz Hepeatablefead)
] cransaction = connaction.Begi
-_-\.-‘:.--a_a‘v.t on
(Syzcem.Daca ReadUncormicced
:
s z
Linally
comrand.Dispose ()
conneccionR.dispose ()
try
ronnacrtion.Opan ()
- - - -
command. ExecuceNonluery ()
CLANSACCion = new
[
OO Es T T = i
connection ne
(connecticndtring) ;
command = new
(2] ey el . - - ¥
("pESSLY, o6 BSCL )
fad_ Rt ml
catch
transacticn.Rollback|
cranzacticn.Commic () :
Answer:

Explanation: Note:

* Box 1. Start with the sqglconnection

* Box 2: Open the SQL transaction (RepeatableRead)

/ IsolationLevel

Specifies the isolation level of a transaction.

/ RepeatableRead

Volatile data can be read but not modified during the transaction. New data can be added during the transaction.
/ ReadCommitted

Volatile data cannot be read during the transaction, but can be modified.

/ ReadUncommitted

Volatile data can be read and modified during the transaction. Box 3: Try the query
Box 4: commit the transaction

Box 5: Catch the exception (a failed transaction) Box 6: Rollback the transaction
Box 7: Final cleanup

Box 8: Clean up (close command and connection).

Reference: SqlConnection.BeginTransaction Method Incorrect:

The transaction is not set up by transactionscope here. Begintransaction is used.

NEW QUESTION 316
DRAG DROP
You have an application that uses paging. Each page displays 10 items from a list.

You need to display the third page. (Develop the solution by selecting and ordering the required code snippets. You may not need all of the code snippets.)

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 70-483 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

Firac (i0)

Take {10

&T page = iCems
Teke (1)

SELm a0

int page = iltems
«Skip (290

Answer:

Explanation: Skip the first two page (first 20 items) then select the next page (next 10 items),
* Use the Take operator to return a given number of elements in a sequence and then skip over the remainder.
Use the Skip operator to skip over a given number of elements in a sequence and then return the remainder.

NEW QUESTION 319

DRAG DROP

You have a method that will evaluate a parameter of type Int32 named Status. You need to ensure that the method meets the following requirements:

If Status is set to Active, the method must return 1. If Status is set to Inactive, the method must return 0.

If Status is any other value, the method must return -1.

What should you do? (To answer, drag the appropriate statement to the correct location in the answer area. Each statement may be used once, more than once,
or not at all. You may need to drag the split bar between panes or scroll to view content.)

break: Int32 returnStatus = Int32.MinYalue;

- switch (status
case "Active"; ( I

Statement

case "Inactive”
returnStatus = 1;

default: Statement
goto default; Statement
return returnstatus = 0;

Statement

Statement
returnSstatus = -1;

Statement

¥

return returnstatus;

Answer:

Explanation: Example:

int caseSwitch = 1; switch (caseSwitch)

{

case 1:

Console.WriteLine("Case 1"); break;

case 2:

Console.WriteLine("Case 2"); break;

default: Console.WriteLine("Default case"); break;

}

Reference: switch (C# Reference) https://msdn.microsoft.com/en-us/library/06tc147t.aspx

NEW QUESTION 321
You are developing an application that uses multiple asynchronous tasks to optimize performance. You need to retrieve the result of an asynchronous task.
Which code segment should you use?
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A protected async wvoid StartTask()
string result = await Getlatal():
public Task<string> GetDatal)
B. protected async void StartTask()
string result = GetDatal():
public Task<string> GetData()
. protected aszync woid StartTaszskl)
etring result = await GetDatal):
public aaync ITask<string> GetDagta|()
0. protected async wvoid StartTask()
gtring result = async GetDatal):
public awglt Te=sk<string» GetData|)
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

Explanation: Use the async modifier to specify that a method, lambda expression, or anonymous method is asynchronous. If you use this modifier on a method or
expression, it's referred to as an async method.
Example:

public async Task<int> ExampleMethodAsync()

{
n....

}

Reference: async (C# Reference) https://msdn.microsoft.com/en-us/library/hh156513.aspx

NEW QUESTION 325
You are developing an application.
The application contains the following code:
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static wvoid Processzlrders (string orderRefllumber)
if (orderfefNumber == pull)

throw new ArgumentflullException();

static void Main|()

try
string orderRefNumber = null:;
ProcezzCrderz (ordexRefNomber) ;
%atch (argumentiulifxception e
o e, WriteLine ("{0} 2An exception caught.", e};
catch (Exce e
o e.WritelLine ("(0} An exception caught.", e);

'
o

When you compile the code, you receive the following syntax error message: "A previous catch clause already catches all exceptions of this or a super type
('System.Exception’)."
You need to ensure that the code can be compiled. What should you do?

A. Catch the ArgumentException exception instead of the ArgumentNullException exception.
B. Throw a new exception in the second catch block.

C. Catch the ArgumentNullException exception first.

D. Re-throw the exception caught by the second catch block.

Answer: A

NEW QUESTION 326

You have an application that accesses a Web server named Serverl.

You need to download an image named Imagel.jpg from Serverl and store the image locally as Filel.jpg.
Which code should you use?

A =ERequest request =

B3t reate ("hoep:///aerveri/imag e |
HELLRY = pey Y (reguest,GatResponse () . GetlesponsaScream() ) 2
WELADEL , WELICEaLine (" Lale g
WEiLer.Dispose ]
B client = new {]:
WTiter = ney [PLiyZWTrlsl, = b -
writer Write(client.DownloadDaca("htt sarvarl imagel . Spa"))
writer.Dispose ()
client.Dzispose();
b B cliant = new 1 () 2
glient.ownioagbilse("RCCp:? =arysrl/imag Tegt, TCiNATIiel, g )
client.Dispoze()
D lepReguast request = HuopiWebR: rst.Cxeate ("htLp serverl/imagel.jpg™)
LEE - JYiter = new (request.GecReaponse () .GecResponseStream(] )
wricer Wrice ("CiWW\filel, = Ll
Wwriter.Dispossa ()
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C

NEW QUESTION 328

You are developing a C# application. The application references and calls a RESTful web service named EmployeeService. The EmployeeService web service
includes a method named GetEmployee, which accepts an employee ID as a parameter. The web service returns the following JSON data from the method.
{"1d":1,"Name":"David Jones">

The following code segment invokes the service and stores the result:
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pyrei! amployveslace = gcizenc.DownloadDace("horp:/ localnoac2588/SmployeasServics, ave/Serieployes :

You need to convert the returned JSON data to an Employee object for use in the application. Which code segment should you use?

4 using | SETFEAT = may | T jempicyesDaTal |

m

D using

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 330
You are developing an assembly.

You plan to sign the assembly when the assembly is developed. You need to reserve space in the assembly for the signature.

What should you do?

A. Run the Assembly Linker tool from the Windows Software Development Kit (Windows SDK).
B. Run the Strong Name tool from the Windows Software Development Kit (Windows SDK).

C. Add the AssemblySignatureKeyAttribute attribute the assembly.

D. Add the AssemblyDelaySignAttribute attribute to the assembly.

Answer: D

Explanation: The AssemblyDelaySignAttribute class specifies that the assembly is not fully signed when created. Reference: https://msdn.microsoft.com/enus/

library/system.refilection.assemblydelaysignattribute(v=vs.110).aspx

NEW QUESTION 335
You have the following code (line numbers are included for reference only):
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01 public class SIS

02 1

03 private gtatic Sygvem.Diagnostics.Ztopwactch execTimer =
o4 new System.Diagnostics.Stopwacczhi);

05 public static void Delayi{int delay)

o7 Thread.3leep (delay} ;

o8 b

oo public static void LoglongExec{string msg)

10 {

11 if | _exscTimer.Elapsed.Seccnds »>= S}

iz throw new EXcepTion|

i3 string.Format {"Execucicn is too long > {0} > {11";
14 msg, exXeclimer.Elapsed.TcoctalMillisecconds));

1l 1

1& putlic static wvoid Mainig)

(]
EH,

18 _execTimer.3tarc ()

ig try

20 {

2Y Delay (10} ;

Z2 LogLongExec ("Delay (10} ") ;
23 Delay (S000)

24 LoglongExec ("Delay(SO00) ") ;
25 b

26 catch (Exception ex)

27 I

28

25 i

30 }

31 1

You need to ensure that if an exception occurs, the exception will be logged. Which code should you insert at line 28?

A Syaten.Diagnostics XnlWriterTracelistener ligtener =
new XmiWriterTraceListener ("./Error.log"):
ligtener.WritelLine (ex.Mezazage] :

listener.Flushi):

liztener.Cilose()

B. Syatem.Diagnostica.Xn erTracelList loggingLiztener =
new i iteriracelistener (", /Trace.log®) ;
JoggingListener.Flush(]:
logginglListener.Close () :
C. System.Diagnostics.Trace.Writeline|(ex.Message, "Error.log");
0. System.Diagnostics.Traceiource trace = new 1 eSource (M. /Erace.log"];
trace.TraceEvent (Traceiventiyrpe.Error, ex.HBesult, ex.Message):;

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation: * XmlWriterTraceListener
Directs tracing or debugging output as XML-encoded data to a TextWriter or to a Stream, such as a FileStream.

NEW QUESTION 336

You are troubleshooting an application that uses a class named FullName. The class is decorated with the DataContractAttribute attribute. The application includes

the following code. (Line numbers are included for reference only.)
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01 class Program

o2

03 = am Writelame (Name name)

a5 TAY I3 = new EET () 7

06 rar binary = XEmiliccionar riter.CreateBinaryWriter (m3}) ;
a7 ar ser = new DataContractSeriglizer(typeof(Fullllame));
o8 ser . WriteObject (binary, name);

Fh)

You need to ensure that the entire FullName object is serialized to the memory stream object. Which code segment should you insert at line 09?

A. binary.WriteEndElement();
B. binary.NriteEndDocument();
C. ms.Close() ;

D. binary.Flush();

Answer: D

Explanation: Example:

MemoryStream stream2 = new MemoryStream();

XmiIDictionaryWriter binaryDictionaryWriter = XmlIDictionaryWriter.CreateBinaryWriter(stream?2); serializer.WriteObject(binaryDictionaryWriter, recordl);
binaryDictionaryWriter.Flush(); Incorrect:

Not A: throws InvalidOperationException.

Reference: https://msdn.microsoft.com/en-us/library/ms752244(v=vs.110).aspx

NEW QUESTION 338
You have the following code:

t32» Items = new List<int»|()

= A

[Kx] dCo gy
[ T o O O Y R

L =
I

You need to retrieve all of the numbers from the items variable that are greater than 80. Which code should you use?

A var reszult = items.First(i =>» 1 » 20):
B var result = iftems.Where(i =» i » 80);
W var result = from i in items
groupby i into grouped
where grouped.Key » 20
select. i:
[ war result = items.&nyi(i = i » 28);
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

Explanation: Enumerable.Where<TSource> Method (IEnumerable<TSource>, Func<TSource, Boolean>) Filters a sequence of values based on a predicate.
Example: List<string> fruits =

new List<string> { "apple", "passionfruit", "banana", "mango", "orange", "blueberry", "grape", "strawberry" }; IEnumerable<string> query = fruits.Where(fruit =>
fruit.Length < 6); foreach (string fruit in query)

{

Console.WriteLine(fruit);

}

/*

This code produces the following output: apple
mango

grape

*/

NEW QUESTION 342
You are implementing a new method named ProcessData. The ProcessData() method calls a thirdparty component that performs a long-running operation to
retrieve stock information from a web
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service.

The third-party component uses the IAsyncResult pattern to signal completion of the long-running operation so that the Ul can be updated with the new values.
You need to ensure that the calling code handles the long-running operation as a System.Threading.Tasks.Task object to avoid blocking the Ul thread.

Which two actions should you perform? (Each correct answer presents part of the solution. Choose two.)

A. Create a TaskCompletionSource<T> object.

B. Call the component by using the TaskFactory.FromAsync() method.

C. Apply the following attribute to the ProcessData() method signature: [Methodimpl(MethodimplOptions.Synchronized)]
D. Apply the async maodifier to the ProcessData() method signature.

Answer: AB

Explanation: A: In many scenarios, it is useful to enable a Task<TResult> to represent an external asynchronous operation. TaskCompletionSource<TResult> is
provided for this purpose. It enables the creation of a task that can be handed out to consumers, and those consumers can use the members of the task as they
would any other. However, unlike most tasks, the state of a task created by a TaskCompletionSource is controlled explicitly by the methods on
TaskCompletionSource. This enables the completion of the external asynchronous operation to be propagated to the underlying Task. The separation also
ensures that consumers are not able to transition the state without access to the corresponding TaskCompletionSource.

B: TaskFactory.FromAsync Method

Creates a Task that represents a pair of begin and end methods that conform to the Asynchronous Programming Model pattern. Overloaded.

Example:

TaskFactory.FromAsync Method (IAsyncResult, Action<IAsyncResult>)

Creates a Task that executes an end method action when a specified IAsyncResult completes. Note:

* System.Threading.Tasks.Task Represents an asynchronous operation.

NEW QUESTION 347

You are developing an application by using C#. The application will write events to an event log. You plan to deploy the application to a server.
You create an event source named MySource and a custom log named MyLog on the server. You need to write events to the custom log.
Which code segment should you use?

A pumlis id WriteToEventiog(scrl messAge
evantLog TS Saurce Application”
AT - AT - T L LT . 1=
eventLog. Wil teERT Y (Mearags
B public void WriteToEvantLog (string messagse
eventlog = ne i Source = rLog EnakbleBaizingEvents = true
eventInstance = ne P
srentlog.WriteEvent (eventinstance, message
e public vold WriteToEventlog (ocIing message, r eventlogEntrvyIype)
EYENTLSg = ne Source = J |
eventlog.WriceEntry {message, eventlogEntrylype
O publie id WriteToZventlog|scel mESsAgE, eventlogEnteyType)
EVEATLAY = féw [ { Source s "MypSource", EnableRajsingEvents = Truys 3
Ry e i a T o - 5 AT i P T =~ Fogs e peg T e oy )
erentLof.WriteEATey (Seasage, &vVeRtLagERAToyTyDe)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 351

HOTSPOT

You have an existing order processing system that accepts .xml files,

The following code shows an example of a properly formatted order in XML:

You create the following class that will be serialized:
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For each of the following properties, select Yes if the property is serialized according to the defined schema. Otherwise, select No.

publiic 5t
rivate
public DateTim

OrderlD

OrderDate

CustomerMame

Answer:

Explanation: Orderld — NO (this will serialize as an element, not as aa attribute)

Yes

Mo

OrderiD gety get;
=r [Name = "Customer™)}
CuatomerlName get: set:
(1]
t3Z CustomerIDl get; zet;
= OrderDate qgEL.,. sS85,

OrderDate — NO (doesn't have DataMember attribute, thus is completely ignored) CustomerName — YES (DataMember is set correctly)

NEW QUESTION 352

You need to write a console application that meets the following requirements:

If the application is compiled in Debug mode, the console output must display Entering debug mode. If the application is compiled in Release mode, the console
output must display Entering release mode.
Which code should you use?

if(Sy=temn.Diagnoatica. Debug

_——

A $#if (TRACE)
onsole. W
fclze
fendif
B. $#if (DEBUG)
e . W
Felze
#endif
.
elze
D. #regiom IEE
Ffendregion
fregion RELELSE
¥endregion
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

iteLine ("Eater:

-,

Ca 2l

= SAl-EL LIl

(]

[ )
[T}

I L Cdoc

Explanation: When the C# compiler encounters an #if directive, followed eventually by an #endif directive, it will compile the code between the directives only if
the specified symbol is defined. Unlike C and C++, you cannot assign a numeric value to a symbol; the #if statement in C# is Boolean and only tests whether the
symbol has been defined or not. For example,
#define DEBUG
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...

#if DEBUG
Console.WriteLine("Debug version");
#endif

NEW QUESTION 354

DRAG DROP

You are adding a method to an existing application. The method uses an integer named statusCode as an input parameter and returns the status code as a string.
The method must meet the following requirements: Return "Error” if the statusCode is O.

Return "Success" if the statusCode is 1.

Return "Unauthorized" if the statusCode is any value other than 0 or |. You need to implement the method to meet the requirements.

How should you complete the relevant code? (To answer, drag the appropriate statements to the correct locations in the answer area. Each statement may be
used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

defanlt string statusText;
' e gu F 3
: (statusCaode)
awitech = d
_F
break
O:
caze
acactuslTaxt = "Error";
| ]
-
srcatusText = "Success";
L
-
statusText = "Unauthorized"®;
*
regurn scactusTexc:
Answer:

Explanation: Example:

int caseSwitch = 1; switch (caseSwitch)

{

case 1:

Console.WriteLine("Case 1"); break;

case 2:

Console.WriteLine("Case 2"); break;

default: Console.WriteLine("Default case™); break;

}

Reference: switch (C# Reference) https://msdn.microsoft.com/en-us/library/06tc147t.aspx

NEW QUESTION 358
You have the following class (line numbers are included for reference only):
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01 puklic class 1

02 1

o3 I vate value = String.Emoty;
04 T vate Se = : DroxXy

05

O& rublic 5 Value

o7 i

o8 get {return wvalus:}

0o }

10 public void Modifvy{Objec:t newvalues;}
11 1

Iz

13 value += proxy.Update (newvValue.ToStringi) )
4 }

5}

13 public void Execute

i5 {

20 5 classl = new

21 {new ParameterizedTh

22 {new ParameterizedTlhreadStart

23 (new Paramster =dThresa

24 : le.Writelinei{classl.Value};
25 }

28 7}

LInvekefl)o:
b Invoke (2} ;

rtfclassl . Modify) ) . Invoke (3 ;

ServiceProxy is a proxy for a web service. Calls to the Update method can take up to five seconds. The Test class is the only class the uses Class1.

You run the Execute method three times, and you receive the following results:

213
312
231

You need to ensure that each value is appended to the Value property in the order that the Modify methods are invoked.

What should you do?

A, Insert the following at line 5:

ohil = new Chiect():

Insert the following at line 12;
Monitor.Enter {obil)

B. Insert the following at line 5:

- — -
ohil = new

Insert the following at line 12;
lock (okil)

C. Insert the following at line 12;
Monicor.Enter (chiz);

D.  Ingert the following at line 12:
lock (value])

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

()

Explanation: Need to lock statement. The lock keyword marks a statement block as a critical section by obtaining the mutual-exclusion lock for a given object,

executing a statement, and then releasing the lock. Reference: lock Statement (C# Reference)
https://msdn.microsoft.com/en-us/library/c5kehkcz.aspx

NEW QUESTION 360
HOTSPOT

You have the following code (line numbers are included for reference only):

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



@ 2passeasy

Welcome to download the Newest 2passeasy 70-483 dumps
https://www.2passeasy.com/dumps/70-483/ (288 New Questions)

-

01l using (StreamWritelr wWrlter = new Stre
0z {

] —onsale.SecOut (wricer)

EE:| uaing (FileScream sSiream = new FileS
05 {

06 using (Stre z2ader reader = new
a7 {

o8 while (!reader.EndOfStream)

g i

410 ]

011 }

= = o b ~ 7 TR i
r =r (A"Ci\consola.txt™) )
samiATC:\file.oxt™, FilsMc
resmisader (stream} )

To answer, complete each statement according to the information presented in the code.

If File.txt does NOT exist in the root of
Ci,ouowill be throwr,

The final output of the streaming
operation will be ..,

Answer:

Explanation:

The final output of the streaming
operation will be ..,

NEW QUESTION 363

-

Argurmentiul Exception
FileLoadException
FileMotFoundException
PipeException

=l

a console window,

thie Corsole, bt file,

the file t:t file,

the Yisual Studio Debug console.
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If File.txt does NOT exist in the root of
Ci,ouowill be throwr,

3 CorEole e indo
e tile. it file,
the Yisual Studio Debug console.

dz . 0pen;

l=2.Wriceline (reader.Readline{} )
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